RA 92 100/10.97 (SAE amd Metric)

Variable Displacement Pump A4VSG RA
Reerth Series 1 and 2, for closed circuits 92 100/10.97
Bosch G roup axial piston, swashplate design SAE and Metric
Sizes 40...1000 Nominal pressure (5?]50853) Peak pressure ?48(?(())5:1") replaces 05.95

For the description of control options and regulating devices see
separate RA sheets (see page 2).

Axial piston, swashplate design, variable displacement pump — Swashplate design
model A4VSG is designed for hydrostatic transmissions in closed — Infinitely variable displacement
circuit.

— Reversible flow

— Numerous control options

— Nominal pressure 5100 psi (350 bar)

— Low noise level

— Long service life

— Drive shaft capable of absorbing axial and radial loads
— Low power / weight ratio

— Modular design

— Short control times

— Tandem pumps possible, full thru drive

— Swivel angle indicator standard

— Installation position optional

— Operation on HF fluids permitted at derated parameters

Flow is proportional to input speed and displacement, and is
infinitely variable by adjustment of the swashplate.




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Ordering code

Fluid

Petroleum oils (no code)

HF-Fluids (except Skydrol) | E-

Version

SAE version A

Metric version (no code)

Axial piston unit
| Variable pump, swashplate design, industrial applications | A4VS |
Mode of operation
| Pump, closed circuit | G |
Sizes 40 | 71 | 125 | 180 | 250 | 355 [ 500 [ 750 |1000
Displacement in¥/rev. 244 | 433 | 7.63 | 10.98 | 15.26 | 21.66 | 30.51 |45.77 |61.02
cm®rev. | 40 | 71 | 125 | 180 | 250 | 355 | 500 | 750 (1000
Control and adjustment devices 40 71 125 180 250 355 500 750 1000
Manual control MA [ ] [ ] [ ] [ ] [ ] (] e | - - | MA see RE/RA 92072
Hydraulic control, volume dependent HM [ [ [ [ [ [ ® | O O | HM..
Hydraulic control, with servo valve HS [ [ [ [ [ [ o O ® | HS.. see RE/RA 92076
Hydraulic control, with proportional valve EO [ [ [ [ [ [ ® | O O | EO..
Hydraulic control, pilot pressure dependent HD') | @ [ J [ J [ J [ J [ J [ J [ J O | HD.. see RE/RA 92080
Constant pressure control DR')| @ [ [ [ [ [ e O O | DR.. see RE/RA 92060
Parallel pressure control DP')| @ [ [ [ [ [ e (O O | DP.. see RE/RA 92060
Const. power control w/ hyperb. operating curve LR") | @ [ [ [ [ [ e (O O | LR..N| see RE/RA 92064
Hydraulic control, with rotary servo HW | @ [ o [ [ [ ® O O | HW see RA 92068 in preparation
Hydraulic control, speed dependent DS [ J [ J [ J [ J [ J [ J [ ] [ J O | DS.. see RA 92055
Series
[ ] [ ] - - - — — — - 10°)
- - [ J [ ] [ [ o () 22
Direction of rotation
As viewed from shaft drive clockwise R
counter-clockwise L
bi-directional ') w
Seals
Buna N/ Shaft seal: FPM _(Fluorocarbon) P
FPM (Fluorocarbon) \
Shaft end 40 71 125 180 250 355 500 750 1000
Parallel keyed shaft SAE o e o o  ® | O] - | - | - K
Splined shaft SAE (] o @ o @ O - - - S
Metric keyed shaft per DIN 6885 [ [ [ [ [ [ [ [ [ P
Metric splined shaft per DIN 5480 (] [ [ [ [ [ (] [ (] Y4
Mounting flange 40 71 125 180 250 355 500 750 1000
SAE 4-bolt [ ] [ ] [ ] [ ] [ ] O - - - D
ISO 4-bolt [ ] [ ] [ ] [ ] [ ] [ J B
ISO 8-bolt - - - - - - [ ] [ ] [ ] H
Port connections
Port A,B: SAE on the side, same side, UNC mounting threads 60
Port A,B: SAE on the side, same side, metric mounting threads 10

") HD control is series 11.
") Depending on control type, alternating direction of rotation may not be possible,
please note separate RA sheets on controls.

2) For sizes 500 (only available for DS control), HS/HS1 see RA 92076




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

LI lasvsla] [ Jr] (-1 {1 [ [ ] |

Fluid |

Version

Axial piston unit

Mode of operation

Sizes

Control and adjustment devices

Series

Direction of rotation

Seals

Shaft end

Mounting flange

Port connections

Through drive 40 71 125 180 250 355 500 750 1000
Without auxilliary pump, withouth through drive ® | o e o o e o o o NOO
With through drive (For information, please refer to table on Page 4 ) K...

Auxiliary pump mounted and with boost circuit filter piped

1 Auxiliary pump n <2800 rpm - | @ | & o ® @@ O O HO02
for boost oil circuit n > 2800 rpm o (O -1 - - - | - - - HO3
1 Auxiliary pump for a combined n <2800 rpm - | @ | - | © - | - - - HO4
boost oil and pilot oil circuit (EO1 only) n > 2800 rpm e |0 - - |- - |- |- - HO5
Auxiliary pumps mounted — see RA 90139 (in preparation)
Valves
Without valve block 0
With SDVB valve block built on 9
Filtration 40 71 125 180 250 355 500 750 1000
Without filter ® o o o o o o o o N
Filter installed in the boost circuit ® O e o o ® ® O |O F
Sandwich filter with HS and DS controls (see RE/RA 92076 and RA 92055) ® O e o o o 03| - | - Y4
Eige;nn;oggtsgni?r ct):;e boost circuit and sandwich filter with oo 0|00 |0ley - |- U

| ® | = available
m = in preparation
| — |= not available




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Through drive ordering codes 40 71 125 180 250 355 500 750 1000
Without auxiliary pump, without through drive o/o/o0o[0o]/0 0|00 nNoo
With through drive for mounting of axial piston unit, gear or radial piston pump
Flange Hub/shaft to accept
ISO 125, 4-bolt Splined shaft 32x2x30x14x9g A4VSO/H/G 40 ®e &6 & &6 6 6 & O O K31
ISO 125, 4-bolt splined 32x2x14x9g A4VSO/H/G 40 e & & & o O | e O | O K31
ISO 140, 4-bolt splined 40x2x18x9g A4VSO/H/G 71 -/ ®|® | @ ® | ® O |O K33
ISO 160, 4-bolt splined 50x2x24x9g A4VSO/H/G 125 -|-|®|® | @O |® O |O K34
ISO 160, 4-bolt splined 50x2x24x9g A4VSO/G 180 -l -l -|®|®] O |®|O|O K34
ISO 224, 4-bolt splined 60x2x28x9g A4VSO/H/G 250 -l -l -]1-]1®]OC|®|O|O K35
ISO 224, 4-bolt splined 70x3x22x9g A4VSO/G 355 -l -l -]/-]-1® OO0 |O K77
ISO 315, 8-bolt splined 80x2x38x9g A4VSO/G 500 -l -1 -1-]-]-1®|®|O K43
ISO 400, 8-bolt splined 90x3x28x9g A4VSO/G 750 -l -l-1-1-1-1-1010 K76
ISO 80, 2-bolt keyed @ 18 (mm) A10VSO 18 e o6 o o o o o O | O K51
ISO 100, 2-bolt keyed @ 22 (mm) A10VSO 28 e & & & & O | O |0 |0 K25
ISO 100, 2-bolt keyed @ 25 (mm) A10VSO 45 e & & & o O | e O | O K26
ISO 125, 2-bolt keyed @ 32 (mm) A10VSO 71 -|l®o|l ® | ® | ®  ® | ®|O|O K27
ISO 125, 2-bolt keyed @ 40 (mm) A10VSO 100 -|-1®|®|®| O |®|O0|O K37
ISO 180, 4-bolt keyed @ 45 (mm) A10VSO 140 -/l -1 -]10|®|® |®|O|O K59
127-4 (SAE C, 4-bolt) splined 32-4 (SAE C) AA4VSO/G 40 OO0 |O0O|O0O|O|-1]-|- K15
127-4 (SAE C, 4-bolt) splined 38-4 (SAE C-C) AA4VSO/G 71 O|lO| @ |O0O|O0O|O|-1|-|- K16
152-4 (SAE D, 4-bolt) splined 44-4 (SAE D) AA4VSO/G 125 - -1 ®]O|O0O|O |-|-|- K17
152-4 (SAE D, 4-bolt) splined 50-4 (SAE F) AA4VSO/G 180 -1 -1 -10]0|O0 |-|-|- K78
165-4 (SAE E, 4-bolt) splined 50-4 (SAE F) AA4VSO/G 250 -l -1 -1-1®]|O|-|-1|- K18
82-2 (SAE A, 2-bolt) keyed 19-1 (SAE A-B) AA10VSO 18 OlolO|O|O0O|O|~-|-|- K40
101-2 (SAE B, 2-bolt) keyed 22-1 (SAE B) AA10VSO 28 @ @ ®@ O|O0O|O|-|-1]- K03
101-2 (SAE B, 2-bolt) keyed 25-1 (SAE B-B) AA10VSO 45 OO0 |O0O|O0O|O|-1]-|- K05
127-2 (SAE C, 2-bolt) keyed 32-1 (SAE C) AA10VSO 71 -OlO|O|@®@|O |-|-|- K08
127-2 (SAE C, 2-bolt) keyed 38-1 (SAE C-C) AA10VSO 100 - =100 |O0O|O |=-|-|- K38
152-4 (SAE D, 4-bolt) keyed 44-1 (SAE D) AA10VSO 140 -1 =100 |O0O|O|-|-|- K21
82-2 (SAE A, 2-bolt) splined 5/8" 16-4 (SAE A) G2/ GC2/GC3-1X e & o o o e o O O K01
82-2 (SAE A, 2-bolt) splined 3/4" 19-4 (SAE A-B) A10VSO 18 e & o o o e o O O K52
101-2 (SAE B, 2-bolt) splined 7/8" G3, A10VO 28 e & o o o o6 o o O K02
101-2 (SAE B) splined 25-4 (SAE B-B) GC4-1X, A10VO 45 O|lO0O|e®@|O0O|O| @[O0 |O0|O K04
101-2 (SAE B) splined 32-4 (SAE C) GC5-1X e 6 @6 O (@@ O |O0O|O0]|O K06
127-2 (SAE C) splined 32-4 (SAE C) A10VO 71 OOl O ]|]O|O0O]|]O|O0O|O0]|O K07
127-2 (SAE C) splined 38-4 (SAE C-C) GCe-1X, A10VO 100 -0l ® | ® | ®| O |O|O|O K24
152-4 (SAE D) splined 44-4 (SAE D) A10VO 140 OOl OO |O0O|]O|O]|O|O K17
@ 63 (mm) metric, 4-bolt, keyed @ 25 (mm) R4 e ® @6 O @O |O|O]|O K57
101-2 (SAE B) 22-4 (SAE B) G4 e & o o o o6 o o O K68
101-2 (SAE B, 2-bolt) splined 7/8" R-shaft (SAE B med.)  A10VO28..R,PVW1&2| O | O| O |O|O| O |O |O |O KA3
101-2 (SAE B, 2-bolt) splined 1" R-shaft (SAE BB) A10VO 45...R OOl O ]O|O]|O|O]|O|O KA4
127-2 (SAE C, 2-bolt) splined 1-1/4", R-shaft (SAE C) A1OVO71..R,PW4&5| O | O| O |O|O|O |O|O |O KA5
with through drive shaft, without coupler, without intermediate flange, with cover | 6 6 O e 0 o o O K99

Through drive / Combination pumps

1. If a second Brueninghaus Hydromatik pump is to be mounted at the factory, the two ordering codes have to be connected with a "+".
Ordering code of the first pump + ordering code of the second pump

SAE Example: AA4VSG 125 EO1/22R — PSD60K160N + AA4VSG 71 HM1/10R — PSDGONOOON
Metric Example: A4VSG 125 EO1/22R — PPB10K339F + A4VSG 71 HM1/10R — PZB10NOOON

2. Please check with the factory if a gear pump or radial piston pump is to be mounted at the factory.
. ____________________________________________________________________________________________________|




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Hydraulic Fluid

The A4VSG pumps in the standard design, should be used with
good quality, petroleum oil based, anti-wear hydraulic fluids. More
detailed information regarding the selection of hydraulic fluids and
their application limits can be found in our Data Sheets RA 90 220
(Petroleum Qil), RA 90 221 (Biodegradable Fluids) and RA 90 223
(Type HF—Fire Resistant/Synthetic Fluids).

When operating with environmentally compatible fluids (Bio-
degradable) or Fire Resistant (Type HF synthetic fluids) possible
reduction of the operating specifications may be required. Please
consult with us and your fluid supplier.

Operating Viscosity Range
In orderto obtain optimum efficiency and service life, we recommend

that the operating viscosity (at normal operating temperature) be
selected from within the range.

Optimum Viscosity (vy) 80...170 SUS (16...36 mm?/s) ‘

Limits of Viscosity Range
The limiting values for viscosity are as follows:

Notes on Hydraulic Fluid Selection

In order to select the correct fluid, it is necessary to know the
operating temperature in the tank (open circuits) in relation to the
ambient temperature.

The hydraulic fluid should be selected so that, within the operating
temperature range, the fluid viscosity is within the optimum range
Vopt (see shaded area of the selection diagram). We recommend
that the higher viscosity grade is selected in each case.

Example: At an ambient temperature of X°, the operating tempe-
rature in the reservoir is 140 °F (60 °C). In the optimum operating
viscosity range v, (shaded area), this corresponds to viscosity
grades VG 46 or VG 68, VG 68 should be selected.

Important: The leakage fluid (case drain fluid) temperature is
influenced by pressure and speed and is typically higher than the
tank temperature. However, maximum temperature at any pointin
the system must be less than 195°F (90°C).

Temperature range (See Selection Diagram)
—-13° F (-25° C)

toin =

Absolute Minimum Viscosity (vpi,) 60 SUS (10 mm?/s) tmax = +195° F (+90° C)
Only for short periods at max. permissible leakage oil
temperature t, = 195°F (90°C)
Maximum Viscosity (vyay) 4600 SUS (1000 mm?/s)
Only for short periods during cold start-up
Selection Diagram
& 5000—(1000) f=em NS ‘ (1000) 4600
~2 A Y b, D, R T
S 3000—— (600) NSNS,
E  2000— AN N VA A
S [—(400) ANEANEANANANAN
n EANCEANONONG
>  1000——(200) N2\ 2\ B\
wn
= NNV
é 500——(100) A N A W N, AN
= = 7\\7\\ \\ \\.\§\\
N
= e N \\}\ LY
= ‘ AN
g 200 3 .- = (@)
31 150 = =170
B2z = E
> E E Vopt.
S R 19
80— = —
E y NN N 80
> 70— NN
«© | \\ AN AN
= 60———(10) T T T T T
195
-13 0 20 40 60 80 100 120 140 160 180
L1 P AP R P P

tmin = -13 °F (-25°C)

Lo .

I T T PR DR T
| 5()—20) (-10) (0) (10) (20) (30) (40) (50) (60) (70) (80) (90)
— Temperature tin °F (°C)

Fluid temperature range

>




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Hydraulic Fluid (continued)

Bearing flushing

Forareliable continuous operation bearing flushing is required with

the following operating conditions:

— Applications with special fluids (non mineral) due to limited
lubricity and narrow temperature range

— operation with mineral oils, however with marginal conditions for
temperature and viscosity

— with vertical mounting (shaft up). In order to ensure lubrication
of front bearing and shaft seal, we recommend bearing flushing.

The bearing flushing port "U" is located in the mounting flange area
ofthe pump. The flushing oil flows through the pump's front bearing
and leaves via the case drain.

We recommend the following flushing flows:

Size 40 71 125 180 250 355 500 750 1000
Qs, GPM 08 10 13 18 26 40 53 79 106

L/min  (3) (4) (5) (7) (10) (15) (20) (30) (40)

For the given flushing flows there will be a pressure difference of
approx. 29 psi (2 bar) between the inlet of port “U” and case
pressure.

Technical Data
(Valid for operation on petroleum oil based fluids)

Operating pressure range — Inlet Port

Recommended boost pressure pays min 230 psi (16 bar)

Recommended boost pressure if
a common auxiliary pump is used for the
boost oil and pilot oil circuits (EO1) Pays max

Max. boost pressure — auxiliary pump
peak pressure with control options
MA-, HM-, HS-, EO-, DS-
with control options
HD-, HW-, LR.N-, DR-
Auxiliary pump — inlet pressure

Suction pressure p;mi, at v =60...1400 SUS (10...300 mm?/s)

= 10 psi (0.7 bar) absolute

360 psi (25 bar)

725 psi (50 bar)

230 psi (16 bar)

Case drain pressure
The permissible case drain pressure is depended on the speed
(see diagram).

8 O‘_I-D o .
(4) —58 - K'\\ M Size
(8) \ \ N

g

E3

5

o

2

S (2

=

o

by 20
]

8 (1) ——145

0 1000 2000 3000 4000

Speed n (rpm)

Filtration of the Hydraulic Fluid (Axial Piston Unit)

In order to guarantee reliable operation, the hydraulic fluid must be
maintained to a minimum cleanliness level of:

to NAS 1638 class 9,
to SAE class 6, ASTM, AIA, or
to ISO/DIS 4406 SAE J1168 class 18/15 is required.

This may be achieved, for example, with filter elements
type...D 020... (see RA 31 278)
Hence the following filtration ratio is achieved

Boo ratio=100.

If a filter is installed in a boost circuit in the factory (code F), the
following sizes of filter will be fitted dependent upon the size of
the axial piston unit as standard, and fitted with a visual/
electrical plugging indicator.

Sizes 40 and 71:
Sizes 125, 180, and 250:

LFBN/HC60G20D1.0/24/V

LFBN/HC110G20D1.0/24/V
Size 355: LFBN/HC240G20D1.0/24/V
Size 500: LFBN/HC330G20D1.0/24/V

For further details see RA 31 278.

Operating pressure range — Outlet Port
Pressure at ports A or B
Nominal pressure p, 5100 psi (350 bar)

5800 psi (400 bar)

Peak pressure pp.x

Max. case drain pressure (housing pressure)
60 psi (4 bar)

pL abs max

These are approximate values. Under certain operating
conditions a reduction in these values may be necessary.

Application of force

+ Fax¢—»————— - —{-

X/2.| X/2

<
%




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Table of values (theoretical values, without consideringn_, andn; values rounded)

Size 40 71 125 180 250 355 500 750 1000
Displacement Vg e IN%rev 244 433 7.63 11.0 15.26 21.7 30.51 458 61.02
(cm’frev) (40)  (71) (125)  (180) (250) (355) (500) (750) (1000)
Max. speed N  PM 3700 3200 2600 2400 2200 2000 1800 1600 1600
Max. flow atn . Q.. gpm 391 600 859 114.1 145.3 187.5 237.7 317.0 422.6
(L/min) (148) (227) (325) (432) (550) (710) (900) (1200)  (1600)
atn.=1200rpm Q gpm 127 225 396 57.0 79.3 1125 158.5 237.8 317.0
(L/min) (48)  (85) (150)  (216) (300) (426) (600) (900) (1200)
atn_ 1800 rpm Q gpm 190 337 594 856 118.9 168.8 237.7 — —
(L/min) (72)  (128) (2259) (324) (450) (639) (900) — —
Max. power atn__ P. HP 116 178 255 339 432 558 707 943 1257
Ap = 5100 psi (350 bar) (kW) (86)  (132) (190) (252) (321) (414) (525) (700) (933)
atn_=1200 rpm P HP 378 66.9 117.8  169.6  236.0 334.7 471.6 707.6 943.2
(kW) (28)  (50) (88) (126) (175) (248) (350) (525) (700)
atn_. 1800 rpm P HP 56.5 100.3 176.7 2547  353.8 502.3 707 — —
(kW) (42)  (75) (131)  (189) (263) (373) (525) — —
Max. torque at Vg max T, bt 165 293 516 743 1032 1465 2064 3096 4127
Ap = 5100 psi (350 bar) (Nm) (223) (395) (696) (1002) (1391)  (1976)  (2783)  (4174)  (5565)
Torque atV, .. T Ib-ft 32 57 101 146 202 287 405 607 809
Ap = 1450 psi (100 bar) (Nm) (64)  (113) (199) (286) (398) (564) (795) (1193)  (1590)
Moment of inertia about drive axis J Ib-ft2 0.116 0.287 0.712 1305 2.276 4.509 7.890 15.66 28.47
(kgm?) (0.005) (0.012) (0.03) (0.055) (0.096) (0.19) (0.333)  (0.66) (1.20)
Filling volume (case) gal 0.5 0.6 1.3 1.0 2.6 2.1 3.7 5.0 713
L @ (25 () ) (10) (8) (14) (19) (27)
Approx. weight m Ibs 104 132 220 251 472 523 772 1102 1389
(pump with press. control) (kg) (47)  (60) (100)  (114) (214) (237) (350) (500) (630)
Permissible max. axial force £ F_Ibf 135 180 225 315 405 450 450 495 495
loading of (N) (600) (800)  (1000) (1400) (1800)  (2000)  (2000)  (2200)  (2200)
drive shaft max. radial force F __ ~ Ibf 225 270 360 450 450 495 562 674 787
(N) (1000) (1200) (1600) (2000) (2000)  (2200)  (2500)  (3000)  (3500)

Installation notes

Optional installation position. The pump housing must be filled
with fluid during commissioning and stay full when operating. In
order to obtain the lowest noise level, all connections (suction,
pressure, case drain ports) must be linked by flexible couplings to
tank.

Avoid placing a check valve in the case drain line. This may be
permissible in individual cases, but only after consultation with us.

Calculation of size

Vg *Nem, Vg *nem, ) Vg = Geometric displacement per rev. - in® (cm?)
Flow Q= — gpm Q= L/min n = Speed rpm (rpm)
231 1000 A p = Pressure differential - psi (bar)

Flow - gpm (L/min)

Torque - Ib-ft (Nm)

Power - HP (kW)

= Volumetric efficiency

= Mechanical-hydraulic efficiency
=Totalefficiency (m,=n,*n,,)

Vg-Ap

Torque T= ——— Ib-ft (T: -’ )
q 24 7om Nm

Q-Ap Q- Ap
Power P=-———— HP P= ——— kW
17147,

=SFES VHO




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.
Dimensions in inches and millimeters ( ).

Unit dimensions, size 40, SAE Version
(without considering the control)

Please note: shown is the shaft
end in metric version.

The SAE-shaft end has a recessed
shaft shoulder.

. \_

| % ‘i\l_
s [ \y =
gL udl [ _ 2
L1 Il z

0.59(15)
‘H?

5.91(150)
3.15(80) 3.15(80)

Port connections

Splined shaft S

Shaft 32-4 (C); SAE J744 OCT 83

1 1/4 Spline size; 30° Pressure angle;
14 Teeth; 12/24 Pitch flat root, — Side
fit tol. ~ Class 5; ANSI B.92.1a- 1976

3.27(83)

/ Adaptor included

\ sz'ﬂ l
g | _ | o]
5 g ] y ’ ™ ;
== —‘ﬂ%% |
== T
. ]
S| 58 ~ g
:5 <t j | / %
- ! -
0.87(22) it
142(36) B(A)
- U R(L)
1.26(32)
5.75(146)
11.14(283)
Keyed shaft K
Shaft 32-1 (C); 9.02(229)
SAE J744 OCT 83 T
\ 0.71(18)
B
S| B oos(15) _ \80¢57) @3}81%2(;%8
.{;; = -
32{» | [
2| g
Bl 0sr(22) 4K g
e — NI N
= ]
T——"1| sst290 N

) [ ]
0.31(8)(B) 2.05(52 0.79(20)

2.00(50.8) M A A

187 3.62(93) K2
475) (A)
Keyed shaft K
SAE-Version

AB Pressure ports 3/4" SAE (high pressure series; Code 62)

M,, M, Test ports 7/16-20 UNF-2B (plugged)

T Case drain port 7/8-14 UNF-2B (plugged)

E Boost port 3/4-16 UNF-2B

K,,K,  Flushing ports 7/8-14 UNF-2B (plugged)

R (L)  Fluid fill and air bleed port 7/8-14 UNF-2B A
for exact location see control data sheets

U Flushing port 7/16-20 UNF-2B; 0.47(12) deep (plugged)

oo




RA 92 100/10.97 (SAE and Metric)

. . . Before finalizing your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 9y Dim%ns?ons in injhes and millimeters ( %_

Unit dimensions, size 40, Metric Version
(without considering the control)

3.27(83)
. E
Splined shaft Z
W 32x2x14x9g ] n /
DIN 5480 [ ﬂ IL{__‘LL
. - 1 o
iy 8
512 | N g
@ = 1 Py
e ey I
5 j . - :
- | g
= 1
0.87(22) tt-—'—_.JJ ¥
1.42(36) B(A)
o U R(L)
1.18(30)
5.67(144)
11.06(281)
Keyed shaft P
AS 10x8x56 (mm) 8.94(227)
DIN 6885
10.24/11.65 (260/296) \ 0.71(18)
‘ , ‘ Mg B
. | T o
E: L N - ‘ S| 8| oosts, x2066) H’ yé%?)deep
E 'f'_( Lo (0N 1 == P Y, ’
N 3 - 2 e 2 - | i g
SN 0 EVAANCY - g1= L le =
L . A 1R I 3 = ey ) Y 7~ W -
<Ll L1 & | ezl 11 @ ~
Ko™y 1 AN 1g | &4 e -
3 Lo X 18l 3 2 L 4 NRa 2
' [ g8l 3 B gg72) L it >_$ 3
LI - % — dili \\—l\ N
T 0318 (
5.90(150) T /m 2.05(52) 0.79(20)
3.11(79) 3.11(79) 2.28(58) | 3.54(90) Ko 2.00(50.8) My A

450

Port connections

AB Pressure ports 3/4" SAE (high pressure series)
M Test ports M14x1.5 (plugged)
T Case drain port M22x1.5 (plugged)
E Boost port M18x1.5
K,.K,  Flushing ports M22x1.5 (plugged)
R (L)  Fluid fill and air bleed port M22x1.5
for exact location see control data sheets
U Flushing port M14x1.5; 0.47(12) deep (plugged)




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.
Dimensions in inches and millimeters ( ).

Unit dimensions, size 71, SAE Version
(without considering the control)

Please note: shown is the shaft
end in metric version.

The SAE-shaft end has a recessed
shaft shoulder.

0.3757{9.54
0.3748(9.52
(11.65/13.07(296/332))

. ¥ 7 B
E ( % || W_
- \\,&r_’n ’ | _
S ‘—}‘J gl 2
L / F:‘o
K3 h‘[ / Sl s
[ | ] pd

3.62(92)

95

Port connections

Splined shaft $ 315(80)
Shaft 38-4 (C-C); SAE J744 OCT 83
1 1/2 Spline size; 30° Pressure angle;
17 Teeth; 12/24 Pitch flat root, — Side fit E
tol. — Class 5; ANSI B.92.1a— 1976 .
N / Adaptor included
k < e
-3 -] | &
—_— = - ™
g8g| 3 \ 4 ™ g
L] Y A °
ao —
5 28| 110es — ' 5
S| B _ ] | é
— ]} | y :
|
2.13(54) L ! J
TR 30 R
1.14(29)
6.61(168)
12.13(308)
Keyed shaft K
Shaft 38-1 (C-C);
SAE J744 OCT 83
\ 10.26(260.5)
Mg B
R :l 7116-14 UNC-2B
5| g| w0 ;@ 0.87(22) deep
ke BN Bl 5
=< Z
(Y= - =
g| 7% z E‘; 3 g
= ] VaY <
2 s g
~ -t
- \ : T
05(12.7)(C) \
0.31(8)(B) 2.40(61) | 0.98(25)
2.13(54)(A) 4.06(113) T Ko 2.25(57.2) My A

AB Pressure ports 1" SAE (high pressure series; Code 62)
M,, M, Test ports 7/16-20 UNF-2B (plugged)
T Case drain port 1 1/16-12 UN-2B (plugged)
E Boost port 3/4-16 UNF-2B
K,.K,  Flushing ports 1 1/16-12 UN-2B (plugged)
R (L)  Fluid fill and air bleed port 1 1/16-12 UN-2B
for exact location see control data sheets
U Flushing port 7/16-20 UNF-2B; 0.47(12) deep (plugged)

Keyed shaft K
SAE-Version




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.

Dimensions in inch

es and millimeters ().

11.65/13.07(296/332)

25

04707028

1.69(43)

aseen |

6.69(170)

3.66(93)

950

Port connections

Unit dimensions, size 71, Metric Version
(without considering the control)

Splined shaft Z

3.15(80)

A

W 40x2x18x9g ) E
DIN 5480 ]
T | 17
| 0N ) é
3| (i | g
FEE R @
= 7
g 58 1.10/e8) : | B g
EE ] ' 1
; NI
1.77¢45) - l
U BA 1 Ry
1.06(27)
6.53(166)
12.05(306)
Keyed shaft P
AS 12x8x68 (mm)
DIN 6885 10.18(258.5)
\ Mg B

8.18(157)

Pressure ports 1" SAE (high pressure series)
Test ports M14x1.5 (plugged)
Case drain port M27x2 (plugged)
Boost port M18x1.5
Flushing ports M27x2 (plugged)
Fluid fill and air bleed port M27x2
for exact location see control data sheets
Flushing port M14x1.5; 0.47(12) deep (plugged)

2 0.06(1.5) £8(68) M12; 0.67(17) deep
L HEN 505 58
e e ey —— Lz
nom
0 - FanY
g 55)- A'}.é i _l 5
5 1.10(28) - ;";( £
< "I—— == <
o — r -
e A T
0.31(8) \
0.3%10) 2.40(61 0.98(25)
2.76(70) 3.98(101) 2 295(57.2) Mp A

11



RA 92 100/10.97 (SAE and Metric)

. . . Before finalizing your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 9y Dim‘%ns’fons in in;‘hes and millimeters ( %_

Unit dimensions, size 125, SAE Version
(without considering the control)

Splined shaft S 4.02(102)
Please note: shown is the shaft Shaft 44-4 (D); SAE J744 OCT 83
nd in metric version 1 3/4 Spline size; 30° Pressure angle;
e etric version. 13 Teeth; 8/16Pitch flat root, - Side E
The SAE-shaft end has a recessed fit tol. — Class 5; ANSI B.92.1a - 1976 Adsotor includd
shaft shoulder. F el "‘] p u
! :
s : 1 [ : : 1 N
O o .'_/ | ) i
g5l & - . 5
oai| 2 — =
wvwl s 7y
=< —zt: = —@ - —
[=Y=Y
sk — & z
=F 126/(32) i [\ g
wuw ] ‘-C\.I;
T_\ | 1 “
2.53(67) |
0 R(L) B(A)
1.38(35)
8.07(205)
14.33(364)
Keyed shaft K
Shaft 44-1 (D);
SAE J744 OCT 83 12.48(317)
B
0.94(24)
- K2 2 g 1/2-13 UNC-2B
E\ g 3 006(15) \2.55(65) 0.75(19) deep
2 & ' 3318
% h\ { % ( g g E’i’ _%% ryzss- |
- - - 3 =] =3B Rt
/U P _;l ~ o S8 o &
/ NN - - & ‘K_’f{_ - 1.62)(41) = o
Ks 2N ) - g 2§
g I CIRETY ) - 2
5 0.5(12.7)(C
7.87(200) 0.31(8)(B) 2.76(70) A My A
4.39(115.5) | 4.39(115.5} 2.63(67)(A) 4,92(125) 2.63(66.7

Keyed shaft K
SAE-Version

Port connections

AB Pressure ports 1 1/4" SAE (high pressure series; Code 62)

M,, M, Test ports 7/16-20 UNF-2B (plugged)
T Case drain port 1 5/16-12 UN-2B (plugged) 1
E Boost port 7/8-14 UNF-2B
K,,K,  Flushing ports 1 5/16-12 UN-2B (plugged) B
R (L) Fluid fill and air bleed port 1 5/16-12 UN-2B A

for exact location see control data sheets _+ c
U Flushing port 7/16-20 UNF-2B; 0.47(12) deep (plugged) =




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.
Dimensions in inches and millimeters ().

13.94/15.79(354/401)

w
=<

=
@

N

TAMAZ >

- X
—

C

Unit dimensions, size 125, Metric Version
(without considering the control)

450

Port connections

Iy

- K2
| g5 (M
\F & E E _
b [ 7 M 1e_ &
/ AR
1\ T/ JI -
& |- R
\a T ]
7.87(200)
4.39(115.5) 4.39(115.5)

4.02(102)

7.50(190.5)

Splined shaft Z E
W 50x2x24x99 - .
DIN 5480 i -
_1 : U ki _L =
. 2 | d g
8 A | I\ §
=| @ e
Zloe  redes | || —'\ \ [\ 4 g
n | 1 N\ °
2.13(54
i R(L) B(A)
1.30(33)
7.99(203)
14.25(362)
Keyed shaft P
AS 14x9x80 (mm)
DiN E<85 1240(315)
: B
0.87(22)
a M14;
2 0.75(19) deep
] 0.06(1.5)
3| 0
s
g| = =
g|.B =
5|28 s &
0.31(8)
N
0.39(10), | 2.76(70) K2 1.26( M A A
3.23(82) 4.92(125) 2.63(66.7)

Pressure ports 1 1/4" SAE (high pressure series)
Test ports M14x1.5 (plugged)
Case drain port M33x2 (plugged)

Boost port M22x1.5

Flushing ports M33x2 (plugged)
Fluid fill and air bleed port M33x2
for exact location see control data sheets

Flushing port M14x1.5; 0.47(12) deep (plugged)

13



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.
Dimensions in inches and millimeters ( ).

Unit dimensions, size 180, SAE Version
(without considering the control)

Please note: shown is the shaft
end in metric version.

The SAE-shaft end has a recessed
shaft shoulder.

0.4383(11.13
0.4374(11.11)
(13.94/15.79(354/401)) /

/

E T | T~ o
© NN
Al eter<e |5
s Gl - &
= H I 51§
= rilge
- R =
S e ¢
< A\ ) ol lan
7.87(200)
4.37(111) 4.37(111)

950 Y

Port connections

AB
Test ports 7/16-20 UNF-2B (plugged)
T Case drain port 1 5/16-12 UN-2B (plugged)

Splined shaft S

Shaft 50-4 (F); SAE J744 OCT 83

2 Spline size; 30° Pressure angle;

15 Teeth; 8/16Pitch flat root, — Side fit
tol. — Class 5; ANSI B.92.1a- 1976

4.02(102)
3.86(98)

E

/Rdaptor included

\ F‘_/ | N ] 5
S3 e | ; B
et |
B8l 2
x| =2 H—Tt @ - -1~
ol 291 % -
| 88| ° 1aes] || < g
F| 9w — faut
< —\ {\N e
—< wy
e
313(79.5
1,38(35) U B(A) R(L)
8.07(205)
15.00(381)
Keyed shaft K
Shaft 50-1 (F);
SAE j744 OCT 83
12.48(317)
M; B
0.94(24)
/,__, O :| / 1/2-13 UNG-28
0.18(4.6) 1341(85.6) | | h 0.75(19) deep
=i i S é 4| s
I & &
%‘g ?_, i W I @_ _ ‘E ! (s
&l 881 % I BN @
g et » > - 1 &
g 1428y 1 I Ndiki 2l =
- a % NN g 5
VoL =
05(12.7)(C) -
0.31(8)(B) |276(70) T K2 M A
|s.s2e2a)] | so0r) 12682 A
2.63(66.7)
Keyed shaft K
SAE-Version

Pressure ports 1 1/4" SAE (high pressure series; Code 62)

E Boost port 7/8-14 UNF-2B
K,.K,  Flushing ports 1 5/16-12 UN-2B (plugged)
R (L)  Fluid fill and air bleed port 1 5/16-12 UN-2B
for exact location see control data sheets
U Flushing port 7/16-20 UNF-2B; 0.47(12) deep (plugged)




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.
Dimensions in inches and millimeters ( ).

Unit dimensions, size 180, Metric Version
(without considering the control)

Port connections

A,B Pressure ports 1 1/4" SAE (high pressure series)
Test ports M14x1.5 (plugged)
T Case drain port M33x2 (plugged)
Boost port M22x1.5
K,  Flushing ports M33x2 (plugged)
L)  Fluid fill and air bleed port M33x2
for exact location see control data sheets
U Flushing port M14x1.5; 0.47(12) deep (plugged)

4.02(102)
3.86(98)
E
Splined shaft Z /
W 50x2x24x9g :
DIN 5480 = ]
53
= =t @ - 4
=R ) -
Sl ggl = =
R Tl Ny :
~ { 3
T ] @
2.13(54)
1.30(33) U B(A) R(L)
7.99(203)
14.92(379)
Keyed shaft P
AS 14x9x80 (mm)
13.94/15.79(354/401) Oin 68\85 12.40(315)
B
’—[ K 0.87(22)
E . LT~ 2 23 o)\ 3 M1%:
S| @| 05\ 31560
f = 8:2%5(1%9)} - % g -——q 075(19) deep
~ Z, 213 ] JHE P = =
s N\HF- 2T~ - _ =1 )
g S < — | g
— k3 : = Ik b_ -
"'/ ) ]é 2 s 3?3 o “ | ©)
- |8 E =
K3 g N ) - Sl x | =
g o) - ¥ 1429 LT z| §
e \n 7 — N B g
— 0.31(8 <
7.67(200) = T K \
43901115 | 4.3001115) L 12760 2 M, A
: . - - 3.23(82 4.92(125) 1.26(32 A
a5 < 2.63(66.7)

15



RA 92 100/10.97 (SAE and Metric)

. . . Before finalizing your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 9y Dim‘%ns’fons in inghes and millimeters ( %_

Unit dimensions, size 250, SAE Version
(without considering the control)

Splined shaft S 5.43(138)
Please note: shown is the shaft gr‘sﬂ‘;}iﬁg':izg)égfﬁ 17524 Sgﬁgsf
: : : ) I ur e,
%‘f’ s A?trrl]c o g 15 Teeth; 8/16Pitch flat root, - Side fit E
€ SIEL Enel N &) HEEeE tol. - Class 5; ANSI B.92.1a— 1976
shaft shoulder. . ==
\ 1 [T

HEHEN
=)
T
7.62(183.5)

5.67(144)
6.5000 DIA (21651
6.4980 DIA (o165.05
2
E
[[ ]
J |
i
El
AN 1
[ 1
@J !
|
6.30(160)

5/8-11 UNG-2B
[X)
2]
|
|

i 4
3.13(795) \ -~ - B(A)
1.73(44) U R
8.84(250)
17.50(444.5)
Keyed shaft K
Shaft 50-1 (F), Long version;
0.5010(12.73 SAE J744 OCT 83
0.5000(12.7) \
16.69/19.09(424/485) 15.28(388)
} ' -.E: 4
1.26(32) :I Mg B
23 5/8-11 UNC-28
E | SISl oos@ \ 352890 (i } | 1,14(29) deep
o oy - | =3 g
Sme g K 88 £ 2
g ERNTIE: e I - = vy [N P TE S
— /L \ o~ 5 g; (.2:5; i ¥
/7 X 8 | b 1 88 =] |149¢s) - _
o - = o 9 @ 2 ?—- )
K /8, T L e 3 g y N =
3z 03] 9 = PN 3
< LNIEY i Py s — i w ™~
' 0.63(16)(C) 1;\_\\T K‘g l ‘ N

10.43(265) 0.31(8)(B)
5.65(143.5) 5.65(143.5) 3.62(92)(A) 5.98(152) Mp A
3.13(79.4)
950 5
Keyed shaft K
SAE-Version

Port connections @ I 11

A,B Pressure ports 1 1/2" SAE (high pressure series)
M,, M, Test ports 7/16-20 UNF-2B (plugged)

T Case drain port 1 5/8-12 UN-2B (plugged) N
E Boost port 1 1/16-12 UN-2B
K,.K,  Flushing ports 1 5/8-12 UN-2B (plugged) B
R (L)  Fluid fill and air bleed port 1 5/8-12 UN-2B A

for exact location see control data sheets 4,..&_
U Flushing port 7/16-20 UNF-2B; 0.47(12) deep (plugged)

16



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.
Dimensions in inches and millimeters ( ).

Unit dimensions, size 250, Metric Version
(without considering the control)

16.69/19.09(424/485)

|
( . p
| S % aliEe®
TRIPAN 2= e N
B 3 ™~ L Ko
(=]
= T =1 /G
5 - &
K3 1 A i
» . §
3 [v24] of s
3
Ay 1 raw i J
|
H
10.43(265)
5.65(143.5) 5.65(143.5)
15 ©

Port connections

Case drain port M42x2 (plugged)

Flushing ports M42x2 (plugged)

AB

M,, M, Test ports M14x1.5 (plugged)
T

E Boost port M27x2

K,.K

R (L

3
) Fluid fill and air bleed port M42x2

for exact location see control data sheets

Flushing port M14x1.5; 0.47(12) deep (plugged)

5.43(138)
Splined shaft Z E
W 60x2x28x9g o =
DIN 5480 . ; & 2 o
= ' | ) g
g § ; 3 | || &
= o - —- -_@_.-_ _
3|88 ] || T S22 :
2 1 | ’ i N g
- 1 &
2.76(70) - - B(A)
1.73(44) U R(L)
9.76(248)
17.42(442.5)
Keyed shaft P
AS 18x11x100 (mm)
DIN 6885 15.20(386)
1.18(30)
gl g M16;
8l 9 m 83(21)
o1 B AL NI | Sy oo
WE = ||
5| e § 1.65(42) | i

0.34(8)

0.39(10)

4.13(105)

5.90(150)

Pressure ports 1 1/2" SAE (high pressure series)

|3.13(79.4 |

17



RA 92 100/10.97 (SAE and Metric)

Before finalizing your design, please request a certified drawing.

Variable displacement pump A4VSG, series 1 and 2 Dimensions in inches and millimeters ( ).

Unit dimensions, size 355
(without considering the control)

5.71(145)

Splined shaft Z

Port connections

Pressure ports 1 1/2" SAE (high pressure series)
Test ports M14x1.5 (plugged)
Case drain port M42x2 (plugged)
Boost port M33x2
Flushing ports M42x2 (plugged)
Fluid fill and air bleed port M42x2
for exact location see control data sheets
Flushing port M18x1.5; 0.47(12) deep (plugged)

W 70x3x22x9g - .
DIN 5480 [T“'—"""]
J |
= Iy b =
e ! =
R
HETH T
1& |
3 2% 1.65)142) ‘ 5]
2 %\ Cod D g
[ J
3.23(82) e 5= I @
B(A
1.73(44) U R(L) ( )
9.76(248)
18.42(468)
Keyed shaft P
AS 20x12x100 (mm)
16.69/19.09(424/485) DIN 6885 15.47(393)
Mg B
| i
g _ — 1.180)
— g g — 0.83(21) deep
4 ( G 075 w\""‘ S| & odses) 3940 [
E (":v’ i‘%' ™~ r - K 2 l @é%@ & g
B 55 2 g el
g8 ) mEimt ;—EL— =ET8 -— gt
K3 —— o =1 "—‘égi‘ $ 0 P
_ , B[~ 1.65(42) N -
g % - g 1 W=
© S —— AL raw ) - \\ ~
| I 0.31(8) K2 I
10.43(265) 0.39(10) | 3.54(90) 1.50(38
5.65(1435) 5.85(142.5) 4.13(105) 5.90(150) T 313(734) MA A
75 o




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.

).

Dimensions in inches and millimeters (

Unit dimensions, size 500
(without considering the control)

M16 DIN 580; 1.06(27) deep
Ring bolt for handling

Port connections

A,B Pressure ports 2" SAE (high pressure series)
M,, M, Test ports M18x1.5 (plugged)
T Case drain port M48x2 (plugged)
E Boost port M27x2
K,.K,  Flushing ports M48x2 (plugged)
R (L)  Fluid fill and air bleed port M48x2
for exact location see control data sheets
U Flushing port M18x1.5; 0.47(12) deep (plugged)

5.75(146)
_ U
Splined shaft Zo 55(14)
W 80x3x25x9g = 174 ].-.-.
DIN 5480 £
AN @ " g
2. —% SR
<8 o i ™ Ei ©
o3 8 2 [ % B
S8 - - — S
N 1.65(42 | =
[{=]
‘ = .’f
T RO B(A)
5.54(90) -
1.18(30) R(L) I:j
5.51(140) 10.98(279)
20.24(514)
Keyed shaft P
AS 22x14x125 {mm})
20.08/21.85(510/555) DIN 6<85 17.13(435) |\/|B
l [&] \@ B
; _ o _ ( B M20:
8 = 0.94(24) deg,
g | / :ﬁ\ (24) deep
= 0123) . 49%(125) - L1
g ials - @ é ]
al = = @G 9| &
R = |-.&= _ L e — A,g _ | =
= =T [=2=1 — 4 |
TR i
op T 165(42) U / [\ s §
5.12(130) | | / | ] o
g 0.63(16)
= T K
8 1.85(47) 9 197(50) M A
7.08(180) 381(96.8) | A
6.26(159) | 6.26(159)
7.48(190) 7.48(190)

19



RA 92 100/10.97 (SAE and Metric)

. . . Before finalizing your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 9y Dim%ns?ons in inches and millimeters %_

Unit dimensions, size 750
(without considering the control)

M16 DIN 580; 1.06(27) deep
Ring bolt for handling

Dimension on reguest

Splined shaft Z
Wod89y | ==l ™
DIN 5480
— Ft
2 b \ __/|_l_)@ é’é
S| | N L/ Ec
387 es
SE == @ o - -1} -
g2 2 B -
S to7|so ] |H N\ —— 5
| ; >
|| 33
4.13(105) R L
1.26(32) ( ) B(A)
6.10(155) 11.85(301)
Dimension on request
Keyed shaft P
AS 25x14x125 {(mm)
22.91/24.80(582/630) DIN 6885 18.39(467)
} 2
| | M20;
}l gl® = 0.94(24) deep
) B 5| o1as) \e92025) 1
& Hia | & 8
: 13 N\ A 237 |4E
o 3 R il S
3 L Lg H - — = —
o = 1 %3
=| § NG 1.97/(50) = +H &5 &
a3 ¢ 3z B 5
~e e ™ / ]
ai ‘@
L] 1 g
5.12(130) EJ R(L) &
0.63(16) T
1.85(47) 1.97(50) M A A
7.09(180) 3.81(96.8)
|_6.970177) 6.97(177)
| 913(232) 9.13(232)

Port connections

AB Pressure ports 2" SAE (high pressure series)
M,, M, Test ports M18x1.5 (plugged)
T Case drain port M48x2 (plugged)
E Boost port M48x2
K,,K,  Flushing ports M48x2 (plugged)

(L)  Fluid fill and air bleed port M48x2

for exact location see control data sheets

U Flushing port M18x1.5; 0.47(12) deep (plugged)

20



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.

).

Dimensions in inches and millimeters (

Unit dimensions, size 1000
(without considering the control)

M20 DIN 580; 1.18(30) deep
Ring bolt for handlmg

7.28(185)

Port connections

Pressure ports 2" SAE (high pressure series)
Test ports, operation pressure M18x1.5 (plugged)
Test ports, control pressure M14x1.5

Case drain port M48x2 (plugged)

Boost port M48x2

Flushing ports M48x2 (plugged)

Fluid fill and air bleed port M48x2

for exact location see control data sheets
Flushing port M18x1.5; 0.47(12) deep (plugged)

Splined shaft Z 0.63(16)
wiooaxaxeg U E]
DIN 5480 ™~ ey
\ [y
\ p é | N
3 |z \ R -
I=3 o - >
Sl &l = i
< g SEEN - [@ - :E
[=] [ -
SR = 1.97(50) - g | | | g
~ - ,| ©
L s R(L) =T / B(A)
1.38(35)
6.10(155 14.17(360) MBZ
25.79(655)
Keyed shaft P
AS 28x16x160 (mm)
26.38(670) DIN ngi 21.38(543)
i n NIB‘I B
i f T T
o g K, e %r,
—_— P _ 4
—T—+— s ey | ]
S T g3 H /| @7 M20;
: ﬂza ' \ gl S E| MEs \808) A L 1.18(30) deep
1:0003 (28r3) % g i e - — <
= ;9 \} 4 &~ = Lg T__—\I )
2/ el = o9 |3
5 o - FEl B — = - - 1= 2
p yEEIEER 5 - Y
S s ]y 8 w70 | |k A e o
%_ S % = / N t% e @
~| = =< 1 [l >
o o iR=]
ol N / HE
g3 s50(165) | T3
0.63(16) \
1.85(47) T 1.75(44.5)
8.46{215) 1.97(50) | M A
! 7.91(201) 7.91(201) R(L) 381(96.) Al
9.13(232) 9.13(232)

21



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2
Summary of controls Vv B»FB_._ J:m
M A
s e
MA Manual control (see RA 92 072) gmax __A<
E '
Stepless adjustment of displacement by S |
means of handwheel. - T ’ _|
=max . -
s ]
+
smax
v
- vg
ngax
. vV 8 A
EM  Electric motor control  (see RA 92 072) .9 .
v g ST
Stepless adjustment of displacement by gmax ] [ Twa |
means of electric motor with control spindle.
With a programmed sequence control various s E | ’ s
intermediate displacements can be selected - L S— —]
by means of built-on limit switches or smax
potentiometer. N p > p !
+
Smax
Y
- Vg
Vv
gmax
. \
HD Hydraulic control (see RA 92 080) +_9
pilot pressure dependent gmax
Stepless control of displacement dependent on
pilot pressure signal. The displacement is pro-
portional to the pilot pressure.
Optional: Ps:
Pilot pressure characteristic curves >
(HD1, HD2, HD3) Ps:
Pressure control (HD.A, HD.B, HD.D)
Remote pressure control :
(HD.GA, HD.GB, HD.G) v i T .
g . PO
HP co_ntrol .(HD1P) -V j;%_h{t_
Electrical pilot pressure control (HD1T) gmax
HW Hydraulic control (see RA 92 068,
with rotary servo in preparation)
Infinite adjustment of the pump flow as a function
of the angle position (sin. p) of the pivot.
Optional: +V
with hyperbolic horsepower control swiveling one graax
side of center only (HWP)
+B
) — 1 CE T :
- ngax U K2 K RCLY

22




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

HM1/2/3 Hydraulic flow control
flow dependent

(see RA 92 076)

The pump displacement is infinitely adjustable, dependent
on the control volume in port X, and X,.
Application: — 2 point control
— basic control device for servo- or
proportional control

EO1/2 Hydraulic control
with proportional valve

(see RA 92 076)

The stepless displacement control is accom- + Vg k
plished with a proportional valve with electr.

feedback of swivel angle. gmax
Electronic control s |

Optional: "s

Short circuit valve (EO1K, EO2K) max

Without valves (EO1E, EO2E)

MB*IF-—@— —_ﬁ%m

1 mEE

HS, HS1, HS3 Hydraulic control (see RA 92 076)

with servo or proportional valve Vv
. . + -9

The stepless displacement control is accom- AV
plished by means of a servo or proportional gmax

valve with electric feedback of swivel angle. ‘
Electronic control

Optional: - y___ Puo
Servo valve (HS/ HS1) ’
Proportional valve (HS3)

Short circuit valve (HS1K, HS3K)

Without valves (HSE, HS1E, HS3E).

The HS3P-control is equipped with built-on
pressure transducer, which makes it suitable
for pressure- and power control

max

SIS g o i e
Ra3R2 K5 K2 T RL> RERERY

(Example: HS)

(HS3, see RE 30 021)

DS1 speed control
secondary controlled

(see RA 92 055)

The speed control DS1 controls the secondary
unit (the motor) in such a manner, that this
motor supplies sufficient torque to maintain the
required speed. Hooked up to a system with
constant pressure, this torque is proportional to
displacement, thus to swivel angle.

o

S
K3 K2 TR

23



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

pilot pressure dependent
basic position Vg min
With overriding power control.

Single sided operation.

The displacement is proportional to the pilot
pressure in P,. The additional hyperbolic
power control is overriding the pilot pressure
signal and holds the preset power constant.
Optional:

Pressure control (LR2DN)

HP-characteristic, remote (LR3N, LR3DN,
LR3GN)

LR.N Hydraulic control (see RA 92 064)

Pressure control, remote (LR2GN) Q

\j

Single sided operation

Maintain a constant pressure in a

hydraulic system Q
Adjustment range 290...5100 psi (20...350 bar)
Optional:

Remote control (DRG)

DR Pressure control (see RA 92 060)

B

for parallel operation

Single sided operation

Suitable to maintain a constant pressure in a
system with multiple axial piston pumps A4VSG in
parallel operation.

Optional:

Flow control (DPF)

DP Pressure control (see RA 92 060)

x iz

7T il —— notincluded in supply

24




RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Through-drive
Axial piston units A4VSG can be supplied with a through-drive
capability, as shown in the ordering code on page 3:

It is recommended that no more than three individual pumps are
coupled in series.

Included in the supply are:

Coupling, fixing screws, seal and an intermediate flange (if
required).

Combination pumps

Two or more independent circuits are available to the user when

combination pumps are used.

1. If the combination pump consists of 2 Brueninghaus Hydro-
matik units and if it is supposed to be delivered as an
assembled unit, the two odering codes are to be combined
with the "+" symbol.

Ordering example:
AA4VSG 125 EO1/22R — PKD60K169F +
AA4VSG 71 HM1/10R — PSD60NOOON

1.1 Please see data sheet RA 90 139 (in preparation) if a gear
pump or radial piston pump is to be mounted as a combination
pump at the factory. This data sheet lists the pumps which can
be mounted and they are included in the ordering code of the
first pump.

2. Auxiliary pumps, built-on and piped up (see page 32)
Dependent upon the application, the following auxiliary
pumps and/or piping are available:

Ordering example (metric):

A4VSG 125 EO1/22R — PPB10H029F

A4VSG with auxiliary pump piped up for boost circuit
A4VSG 71 EO1/10R — PPB10HO059F

A4VSG with one auxiliary pump piped up for a common
boost and pilot supply circuit, at speeds of > 2800 rpm.

It is recommended that no more than three individual pumps are
coupled in series.

When planning a pump combination with equal pump sizes
(i.e. 125+125) and controls HD.P, HD.T and HD.U it is necessary
to consult us.

Permissible through drive torque

2,

total

Splined shaft Z

Size 40 71 125 180 250 355 500 750

Max. perm. through-drive torque at mounting flange pump 1 (pump 1 +

(pump2) T, . Ibft 329 583 1027 1478 2052 2914 4105 6156
™ (Nm) (446) (790) (1392)(2004) (2782) (3952) (5566) (8348)

T, Ibft 164 201 513 739 1026 1457 2052 3078

, |Pemissibl (Nm) (223) (395) (696) (1002) (1391) (1976) (2783)(4174)
drive torqueTopms, -t 164 291 513 739 1026 1457 2052 3078
(Nm) (223) (395) (696) (1002) (1391) (1976)(2783) (4174)

Ibft 164 291 513 739 1026 1457 2052 3078

, pemissie (Nm) (223) (395) (696) (1002) (1391) (1976) (2783)(4174)
dfive torque Toomse D1t 164 291 513 739 1026 1467 2052 3078
(Nm) (223) (395) (696) (1002) (1391) (1976)(2783) (4174)

Keyed shaft P

Size 40 71 125 180 250 355 500 750

Max. perm. through-drive torque at mounting flange pump 1(pump 1 +

(pump2) T, Ibft 280 516 1027 1032 169 2623 3835 5541

(Nm) (380) (700) (1392)(1400) (2300) (3557)(5200) (7513)

T, bt 164 291 513 739 1026 1457 2052 3078

, |permissive (Nm) (223) (395) (696) (1002) (1391) (1976) (2783) (4174)
I

dfive torqueTopm. 10t 116 225 513 203 670 1166 1783 2463

(Nm) (157) (305) (696) (398) (909) (1581)(2417)(3339)

T, Ibft 116 225 513 293 670 1166 1783 2463

 permissivle (Nm) (157) (305) (696) (398) (909) (1581)(2417)(3339)

dfive torque Toomse D 164 201 613 739 1026 1457 2052 3078

(Nm) (223) (395) (696) (1002) (1391) (1976) (2783) (4174)

Permissible bending moment related to mounting flange
of main pump

:] m,, m, [lbs] Weight of pumps
. o) éj I, 1, [in] Center to center distance
3 L] 1 1
‘ m |1 ™ Tm =m,. |1 . ﬁ+ m, - |2 "o [Ib-ft]
- | .
_ m,, m,[kg]  Weight of pumps .
1 3 - .L | l,, 1, [mm] Center to center distance
i 1 1
h To=m, 1. 17()2+m2'|2‘1702[Nm]
Iz
Size 40 n 125 180 250 355 500 750
Perm. bending moment Topem [b-ft - 1327.6 1475 3098 3098 6859 6859 11506 14382
(Nm) (1800) (2000) (4200) (4200) (9300) (9300) (15600) (19500)
Perm. bending moment referred to T_,,~ lb-ft 132 148 310 310 686 686 1151 1438
mounting flange of main pump (Nm)  (180) (200) (420)  (420)  (930) (930)  (1560)  (1950)
10 g = 98.1 m/sec?
Weight m Ib 104 132 221 251 472 523 772 1102
(kg) (47) (60) (100) (114) (214) (237)  (350) (500)
Center to center distance I, in 4.72 5.51 6.69  7.08 826  8.66 9.05 10.23
(mm) (120) (140) (170)  (180)  (210) (220)  (230) (260)

25




RA 92 100/10.97 (SAE and Metric)

. . . Before finalizing your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 Dimensions in inches and millimeters ( ).

Unit dimensions for combination pumps
A4VSG +  A4VSG

Ol s O
2@{‘5 —:
- \d &
= e & e
T :
A, A A, A
A,
Aé
SAE
main pump AA4VSG 125 AA4VSG 250
2nd pump A, A, A, A, A, A, A, A,
AA4VSG 71 12.48|15.12| 10.26 [27.24

(317) | (384) |(260.5)] (692)
AA4VSG 125 12.48|15.12] 12.48 |29.45
(317) | (384) | (317) | (748)

AA4VSG 250 15.28| 18.94| 15.28| 38.78
(388) | (481) | (388) | (985)

Metric
main pump A4VSG 40 A4VSG 71 A4VSG 125 A4VSG 180 A4VSG 250
znd pump A1 AZ A3 A4 A1 AZ A3 A4 A1 AZ A3 A4 A1 AZ A3 A4 A1 AZ A3 A4
A4VSG 40 8.93(11.33|8.93(22.4 ({10.2|12.4 |8.93 |23.5|12.4{13.68.93(24.7 (12.4|14.6 |8.93 |25.6|15.2|16.9 [8.93 | 28.0
(227)[(288)[(227)((569)|(259) |(316) |(227) [(597) [(315) |(347) |(227) |(628) | (315) |(371) |(227) |(652) |(386) |(431) |(227)((712)
A4VSG 71 - - - - 110.2(12.4({10.2|24.5(12.4|14.6|10.2 (26.7 |12.4|15.6 (10.2|27.6|15.2|16.9|10.2|29.0
) 1O O O 1(259)((316)((259)((623)((315)[(373)((259) [(680) [(315) [(397) [(259) | (703) |(386) | (431) |(259) |(737)
A4VSG 125 - - - - - - - — 1124 (149(124129.2(12.4|15.8|12.4|30.1|15.2|18.4 |12.4 |32.7
OO [E16E 166 |6 [(315)((379)((315)](742)|(315) |(403) |(315) |(766) |(386) | (469) | (315) | (832)
A4VSG 180 - - - - - - - - - - - - [124115.8|12.4(30.7|15.2|118.4 [12.4 |33.3
OO0 1616 16 16 6] () ]|315)|(403)|(315)|(782)|(386) (469)[(315)((848)
A4VSG 250 - - - - - - - - - - - - - - - - |15.2118.4(15.2|35.9
OO0 1616 1616 ] () |(386)](469)](386)(912)
main pump A4VSG 355 A4VSG 500 A4VSG 750
2nd pump A, |A | A |A |A |A |A |A |A |A |A|A,
A4VSG 40 |154 8.93 17.1/19.8(8.93(30.9(18.3 8.93
393) (227) (435)((505)|(227)|(786) |(467) (227)
A4VSG 71 15.4(18.1{10.230.1(17.1119.8|10.2{31.9|18.3 10.2
393)|(460)|(259) |(766)((435) |(505)|(259)|(811)[(467) (259)
A4VSG 125 (154 12.4 17.1119.8(12.4|34.1|18.3 12.4
393) (315) (435)|(505)|(315)[(868)|(467) (315)
A4VSG 180 (154 12.4 17.1119.8 (12.4 18.3 12.4
393) (315) (435)|(505)|(315) (467) (315)
A4VSG 250 (154 15.2 17.1121.2|15.2|38.6 | 18.3 15.2
393) (386) (435) |(541)((386)[(982) |(467) (386)
A4VSG 355 |154 15.4 17.1121.2|15.2|38.6 | 18.3 15.2
393) (393) (435) |(541)((386)[(982) |(467) (386)
A4VSG 500 - - - - |17.1123.2(17.1 |43.1|18.3[25.1|17.1|45.0
) | O | (=) | () [(435)[(590)((435)[1095)(467)|(640)|(435) (1145
A4VSG 750 - - - - - - - - [18.3|25.7]18.3
IO 16 16 16 | () |(467)((655)](467)

26




RA 92 100/10.97 (SAE and Metric)

. . . Before finalizing your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 9y Dim%ns?ons in inghes and millimeters ( %_

Unit dimensions for combination pumps
A4VSG + A4VSO

As As

A

SAE

main pump AA4VSG 125 AA4VSG 250
2nd pump A A A A A A A A

1 2 3 4 1 2 3 4
AA4VSG 71 12.48]15.12| 10.08 [26.93
(317) | (384)| (256) | (684)
AA4VSG 125 | 12.48]15.12] 12.28 [32.48
(317) | (384)| (312) |(825)

AA4VSG 250 15.28| 18.94| 15.04 | 36.30 Other combination pumps in SAE-Version on
(388) | (481) ]| (382) | (922) request.
Metric
main pump A4VSG 40 A4VSG 71 A4VSG 125 A4VSG 180 A4VSG 250
znd pump A1 AZ A3 A4 A1 AZ A3 A4 A1 AZ A3 A4 A1 AZ A3 A4 A1 AZ A3 A4
A4VSG 40 8.93(11.33/8.93(21.9(10.2 {12.4 |8.93(23.0(12.4 {13.6 (8.93 [24.2 (124 |{14.6 |8.93 |25.1 [15.2[16.9 (8.93 |27.5
(227)|(288)|(227)|(557)|(259) [(316)|(227) |(585) |(315) (347) |(227)|(616) |(315) |(371)((227) |(640) |(386) |(431) |(227) | (700)
A4VSG 71 - - - - 110.2(12.4]10.0|24.2|12.4|14.6|10.0|26.4|12.4|15.6|10.0|27.3|15.2|16.9|10.0|28.7
() 1O | )] 6 [(259)](316)[(254) | (6i5) |(315)[(373)[(254)|(671)|(315)[(397)|(254) |(695) |(386) |(431) |(254) [(729)
A4VSG 125 - - - - - - - - [12.4(149|12.2|28.812.4|15.8|12.2|30.1|15.2|18.4|12.2|32.4
QO IE1E 16 166 | (E)|315)](379)((310)(734)|(315)|(403)((310)|(758) |(386) |(469)|(310) | (824)
A4VSG 180 - - - - - - - - - - - - [12.4(15.8|12.5|30.7|15.2|18.4|12.5|33.3
QO[] 16 16 16 6 ] |(315))(403)((318)|(782)(386) (469)|(318)|(848)
A4VSG 250 - - - - - - - - - - - - - - - - [15.2|18.4|14.9|35.7
QIO 16 16 ] E) |(386)](469)](380)((908)
main pump A4VSG 355 A4VSG 500 A4VSG 750
2nd pump A |A |A |A |A |A |A |A |A |A |A | A
A4VSG40 [154 8.93 17.1/19.8|8.93(30.4|18.3 8.93
(393) (227) (435)|(505)|(227)|(774)|(467) (227)
A4VSG 71 15.4|18.1|10.0 |30.1|17.1 {19.8|10.0|31.6 | 18.3 10.0
(393)|(460)|(254)|(758)|(435) |(505)|(254)[(803) | (467) (254)
A4VSG 125 (154 12.2 17.1/19.8|12.2|33.8|18.3 12.2
(393) (310) (435)(505)|(310)|(860)|(467) (310)
A4VSG 180 |[15.4 12,5 17.1|19.8|12.5(34.8|18.3 12,5
(393) (318) (435)(505)|(318)[(884)|(467) (318)
A4VSG 250 |[15.4 14.9 17.1121.2114.9(38.5|18.3 14.9
(393) (380) (435)|(541)|(380)|(980)|(467) (380)
A4VSG 355 ([15.4(19.6|15.4|38.0|17.1 15.4 18.3 15.4
(393)|(498)|(393)|(966) |(435) (393) (467) (393)
A4VSG 500 - | - | -1 - [17.1]|23.2|17.3|43.7[18.3|25.1|17.3|45.6
(=) | () | (=) | (=) [(435)[(590)|(441)(1110)(467)|(640)|(441)(1160
A4VSG 750 - |- =-1=-|1=-1-1-1- [183|257|18.6|47.9
QIO IE 16161 E) [(467)((655)](473)(1219

27



RA 92 100/10.97 (SAE and Metric)

Before finalising your design, please request a certified drawing.
Dimensions in inches and millimeters ( ).

Variable displacement pump A4VSG, series 1 and 2

Unit dimensions for combination pumps
A4VSG + A10VSO

i
i
:

SAE

main pump AA4VSG 40 AA4VSG 71 AA4VSG 125 AA4VSG 250
2nd pump A A A A A A A A A A A A A A A A

1 2 3 4 1 2 3 4 1 2 3 4 1 2 3 4

AA10VSO 28 | 9.02 |11.50| 8.11 |19.60|10.2612.76 | 8.11 |20.87 [12.48]14.53 | 8.11 |22.64
(229) | (292)| (206) | (498) |(260.5)| (324) | (2086) | (530) | (317) | (369) | (206) | (575)

AA10VSO 71 15.28| 17.05] 10.12 [27.17
(388) | (433) | (257) |(690)

Other combination pumps in SAE-Version on request.

Metric
main pump A4VSG 40 A4VSG 71 A4VSG 125 A4VSG 180 A4VSG 250
znd pump A1 A2 A3 A4 AI AZ A3 A4 A1 A2 A3 A4 AI A2 A3 A4 AI AZ A3 A4
A10VSO 18 [8.93|10.3|7.67|18.0(10.2|11.4|7.67|19.1|12.4|13.6|7.67|21.3|12.4| 14.6 |7.67|22.2|15.2|16.9|7.67 |24.6
(227)(263)(195)|(458)|(259) |(291)(195)|(486)|(315)|(347)|(195) |(542)|(315)| (371) |(195)[(566)|(386) |(431)|(195) |(626)
A10VSO 28 |8.93|11.4|8.11|19.5/10.2|12.4|8.11|20.5|12.4|14.4|8.11|22.5|12.4| 15.3|8.11[23.5|15.2|16.9|8.11 |25.0
(227)((290)|(206) |(496)|(259) |(316)|(206) |(522)|(315)|(367)|(206) |(573)|(315)| (391) |(206)|(597)|(386) |(431)|(206) |(637)
A10VSO 45 |8.93|11.4|8.81|20.2|10.2|12.2|8.81|21.0|12.4|14.4|8.81|23.2|12.4| 15.3|8.81|24.2|15.2|16.9|8.81 |25.7
(227)((290)|(224)|(514)|(259) |(311)](224)|(535)|(315) |(367)|(224) |(591)|(315)| (391) |(224)[(615)|(386) | (431)|(224) | (655)
A10VSO 71 - - - - |10.2(12.6(10.1|22.8|12.4{14.8|10.1 |25.0|12.4| 15.8 {10.1|25.9|15.2|17.6|10.1|27.7
=) 1 ) ) G (259)((321)[(257)[(580)((315)((378)((257) [(635) [(315)] (402) |(257)((659) |(386) |(449) |(257) |(706)
A10VSO 100 | - - - - - - - - |12.4(15.1(12.8|27.9|12.4| 16.0 |12.8(28.9 (15.1 (17.9|12.8 | 30.8
QO[O ]16 16 |6 | &) [(315)](385)|(326)|(711)](315)(408.5)(326) (735) |(386) |(457) | (326) |(783)
A10VSO 140 | - - - - - - - - - - - - 124 10.8 15.1(18.4|13.2|31.7
OO OO 66 6] 6 (819 (275) (386)|(469)|(337)|(806)
main pump A4VSG 355 A4VSG 500 A4VSG 750
2nd pump A A | A | A A |A]A|A |A|A]|A]|A
A10VSO 18 15.4|18.1|7.67| 25.7|17.1 |19.8| 7.67| 27.5|18.3 7.67
393)((460)| (195) (655)|(435) |(505)|(195)[(700)|(467) (195)
A10VSO 28 154 8.11 171 8.11 18.3 8.11
393) (206 (435) (206) (467) (206)
A10VSO 45 154 8.81 17.1{19.8|8.81|28.7 (18.3 8.81
393) (224 (435) |(505)[(224)|(729) |(467) (224)
A10VSO 71 15.4|18.8|10.1| 28.9|17.1 {19.8| 10.1| 30.0 [18.3 10.1
393)((478)|(257) (735)|(435) |(505)| (257)[(762)|(467) (257)
A10VSO 100 |15.4 12.8 17.1(20.9|12.8| 33.7 (18.3 12.8
393) (326 (435) (531)[(326)|(857)|(467) (326)
A10VSO 140 (15.4|19.6| 13.2| 32.8|17.1 |20.8| 13.2| 34.1 | 18.3 13.2
393)|(498)| (337) (835)|(435)|(530)| (337)| (867) |(467) (337)

28



RA 92 100/10.97 (SAE and Metric)

Before finalizing your design, please request a certified drawing.
Dimensions in inches and millimeters ( ).

Variable displacement pump A4VSG, series 1 and 2

Unit dimensions - Through drives

Flange ISO 125, 4-bolt; for mounting of axial piston pump A4VSO/H/G 40 (splined shaft Z) Ay
Ordering code K31 i
$50 . 047(12)

A — Section A-B splined hub
N32x2x14x8H
DIN 5480
[
\/ Size 500
<‘° 15
Sizes 40; 71 >
'/ L
8.27(210) Size 500
0.39(10)
A2 A3
Size of main pump A A, A, A, A to faC‘t*_Of pump
40 11.34(288)  — 2.28(58)  M12;0.94(24) deep - mounting flange
71 12.44(316) - 216(55)  M12;0.94(24) deep  —
125 13.66(347) 0.31(8) 1.46(37) M12; 0.71(18) deep 5.90(150)
180 14.61(371) - 1.46(37) M12; 0.71(18) deep -
250 16.97(431)  0.12(3) 1.89(48)  M12;0.71(18) deep _ 7.87(200)
500 19.88(505) 0.47(12) 2.36(60) M12; 0.71(18) deep  —

29



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalising your design, please request a certified drawing.
Dimensions in inches and millimeters ().

Flange ISO 140, 4-bolt; for mounting of axial piston pump A4VSO/H/G 71 (splined shaft Z)

Ordering code K33

Ag
450 [
. 0.47(12)
A — Section A-B splined hub
Ag N40x2x18x8H
—_— /DIN 5480
I\ o &/ ' . S5
' Sizes 71; 125;180 oh
@ i
\al .
B —
0.39(10)
Size of main pump A, A, A, A A, A2 A3
n 12.44(316) - 1.97(50) M12; 0.94(24) deep - to face of pump e
125 14.68(373) - 1.97(50) M12; 0.98(25) deep - mounting flange
180 15.63(397) - 1.77(45) M12; 0.71 6.69(170)
250 16.97(431) 0.12(3) 1.89(48) M12; 0.71 7.87(200)
355 18.11(460) - 1.89(48) M12; 0.71 8.66(220)
500 19.88(505) 0.47(12) 2.36(60) M12; 0.71 9.45(240)
Flange ISO 160, 4-bolt; for mounting of axial piston pump A4VSO/H/G 125 or 180 (splined shaft Z)
Ordering code K34 A3
0.47(12)
Section A-B | \ splined hub
N50x2x24x8H
DIN 5480

K

A2

8.3020DIA (0160:%)

to face of pump

mounting flange

Size of main pump A, A, A,

125 14.92(379) 2.28(58) M16;1.22(31) deep
180 15.87(403) 2.09(53) M16; 1.26(32) deep
250 18.46(469) 2.36(60) M16; 1.26(32) deep
500 19.88(505) 2.36(60) M16; 0.94(24) deep

Y

30



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalising your design, please request a certified drawing.

Dimensions in inches and millimeters ( ).

Flange ISO 224, 4-bolt; for mounting of axial piston pump A4VSO/H/G 250 (splined shaft Z)

Ordering code K35
450

A —

=~
( S
"/,

D) .
X/

AL

A3
ol Q047(12)
Section A-B splined hub
| N60x2x28x8H
N

/W

/

.822
38028 DIA (0224:58)

\ _J
B —i )
0.39(10)
A2 _
to face of pump -
Size of main pump A, A, A, mounting flange
250 18.46(469) 2.95(75)  M20; 1.46(37) deep
500 21.30(541) 2.91(74)  M20; 1.42(36) deep
Flange ISO 224, 4-bolt; for mounting of axial piston pump A4VSO/G 355 (splined shaft Z)
Ordering code K77
3.23(82)
450 B
Section A-B 0.49(12.4)
A > ] splined hub
‘ N70x3x22x8H
( M 20 N / DIN 5480
@- rSnN /_ 4
Y/

Size of main pump 355

8.8228 .
8.8201 DIA (9224:5%)

\ &

19.61(498)

to face

mounting flange

Y

of pump

31



RA 92 100/10.97 (SAE and Metric)

. . . Before finalising your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 Dimensions in inches and millimeters ( ).

Flange ISO 315, 8-bolt; for mounting of axial piston pump A4VSO/G 500 (splined shaft Z)
Ordering code K43

22,50 A3
2.11(53.5)
Section A-B -
A — splined hub
N80x3x25x8H
/ DIN 5480

124 .
15.409qDIA (0315:5%)

0.75(19)
A2 _
to face of pump -
mounting flange
Size of main pump A, A, A,
500 23.23(590) 3.58(91)  M20; 1.02(26) deep
750 25.20(640) 3.58(91)  M20; 1.02(26) deep
Flange ISO 80, 2-bolt; for mounting of axial piston pump A10VSO 18 (keyed shaft P) see RA 92712
Ordering code K51
Ay
A — Section A-B -
02366, 0.39(10)
0.2359(6")
I ¥
J &
© , g
r
— \
T L
Size of main pump A, A, A, A, 11 24301)
40 10.35(263) - 1.09(27.8) M10 A9 ol A3
A 11.46(291) - 1.48(37.5) M10 to face of pump
125 13.66(347)  045(11.5) 150(382) M0 mounting flange
180 14.61(371) - 1.50(38.2) M10; 0.47(12) deep
250 16.97(431) 0.12(3) 1.30(33) M10; 0.47(12) deep
355 18.11(460) - 1.48(37.6) M10
500 19.88(505) 0.59(15) 1.67(42.5) M10

32




RA 92 100/10.97 (SAE and Metric)

. . . Before finalising your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 oy Dim%nsfons in inghes and millimeters ( %_

Flange ISO 100, 2-bolt; for mounting of axial piston pump A10VSO 28 (keyed shaft P) see RE 92711 (metric)
Ordering code K25

Ay
A — -
0.47(12)
8;3228(@&) Section A-B ™
= b
* :
Sy
Size 40
0.8661
| [0.39(10)
A2 A3
SIZE Of maln pump A2 A3 A4 A5 AE to face'of pump S
40 11.42(290) - 2.17(55) M12;1.02(26) deep - mounting flange
n 12.44(316) 0.08(2) 1.38(35) M12;0.71(18) deep ~ 5.51(140)
125 14.45(367) - 1.46(37) M12; 0.59(15) deep ~ 5.91(150)
180 15.39(391) - 1.46(37) M12; 0.59(15) deep ~ 5.91(150)
250 16.97(431) 0.12(3) 1.89(48) M12; 0.71(18) deep ~ 7.87(200)
Flange ISO 100, 2-bolt; for mounting of axial piston pump A10VSO 45 (keyed shaft P) see RE 92711 (metric)
Ordering code K26
Ay
Section A-B <047(12)
\
<
Sizes 40; 71
A
N\
0.9851 o5 Size 500
0.9843(%°")
0.39(10)
A2 RIPLE
to face of pump
mounting flange
Size of main pump A, A, A, A, A,
40 11.42(290) - 2.40(61) M12;1.02(26) deep -
n 12.24(311) - 1.89(48) M12; 1.50(38) deep -
125 14.45(367) - 2.05(52) M12; 1.38(35) deep ~ 5.91(150)
180 15.39(391) - 2.05(52) M12; 0.79(20) deep ~ 5.91(150)
250 16.97(431) 0.12(3) 1.89(48) M12; 0.71(18) deep ~ 7.87(200)
500 19.88(505) 0.47(12) 2.36(60) M12; 0.71(18) deep ~ 9.45(240)

33



34

RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalising your design, please request a certified drawing.
Dimensions in inches and millimeters ().

Flange ISO 125, 2-bolt; for mounting of axial piston pump A10VSO 71 (keyed shaft P) see RE 92711 (metric)
Ordering code K27

A3
A — .
gjggg;(mm) 1 Section A-B I 047(12)
Y
: :
ODO
Size 500 )
™\ Size 500
0.39(10)
Az | |047012)
Size of main pump A, A, A, toface of pump
n 12.64(321) 2.44(62) M16; 1.14(29) deep mounting flange
125 14.88(378) 2.48(63) M16; 0.94(24) deep
180 15.83(402) 2.28(58) M16; 0.94(24) deep
250 17.68(449) 2.44(62) M16; 0.94(24) deep
355 18.82(478) 2.44(62) M16; 0.94(24) deep
500 19.88(505) 2.36(60) M16; 0.94(24) deep
Flange ISO 125, 2-bolt; for mounting of axial piston pump A10VSO 100 (keyed shaft P) see RE 92711 (metric)
Ordering code K37
A3
A _>‘ 0.4730(12Jsa) Section A-B — ~0'47(12)
ot 104719
= :'\
' 4 ARE s
Sl J ] ¥ |28 1
a$ = s 35
— Sizes 125; 180
B —
1.5758(2);)
15748
A2 _
to face of pump "
mounting flange
Size of main pump A, A, A,
125 15.12(384) 2.76(70) M16; 0.94(24) deep
180 16.08(408.5)  2.56(65) M16; 0.94(24) deep
250 17.99(457) 2.68(68) M16; 1.02(26) deep
500 20.91(531) 3.39(86) M16; 1.02(26) deep




RA 92 100/10.97 (SAE and Metric)

. . . Before finalising your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 9 Dim%ns?ons in infjhes and millimeters ( %_

Flange ISO 180, 4-bolt; for mounting of axial piston pump A10VSO 140 (keyed shaft P) see RE 92711 (metric)
Ordering code K59

A
A — 3
- 0.47(12)
312282(‘4 ) Section A-B
%@( ]
L LY T, .
%fb%(ﬂ \_//7 / H 5% %E
'\_// ~r
@ ——r @) Size 250 -
B —
17726 gmrme .
17717145™) 0.39(10)
A2 >
Size of main pump A, A, A, to face of pump
250 18.46(469)  3.11(79) M16; 1.26(32) deep mounting flange
355 19.61(498) 3.11(79) M16; 1.26(32) deep
500 20.87(530) 3.35(85) M16; 0.98(25) deep

With through drive shaft, without hub, without intermediate flange, covered
Ordering code K99
Dimensions on demand

Flange 127-4, (SAE C, 4-bolt); for mounting of axial piston pump AA4VSO/G 71 (splined shaft S)
Ordering code K16

Section A-B
A, Splined hub 13/4;
2.262(57.15+03)| 2.262(57.15+03) 8/16 DP; 13T
2250  |2.250
S N\ s C
B b
28 5%
- e s
\ a ~lo
== < oo
o SlS
5 38
&t 88 Y
\_ ), o
_ M12mm
B
— 0.51113)
A2 0.41110,4)
Aq
Size of main pump A, A, .
to face of pump mounting flange
125 15.12(384) __ 2.64(67) pump gfang
250 on request

35



RA 92 100/10.97 (SAE and Metric)

. . . Before finalizing your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 Dimensions in inches and millimeters ( ).

Flange 152-4 (SAE D, 4-bolt); for mounting of axial piston pump AA4VSO/G 125 (splined shaft S)
Ordering code K17

A Section A-B

] Splined hub 1374’
787 (200)

8/16 DP; 13T

450

1.871200)

6.0027 DIA (9152.47)
" 6.0008 DIA (9152.42) '

W

~_ M16mm-1.26 deep
(M 16; 32 deep)
B —>| 211.0.5113)

A2 ] 04110,4)

Aq
to face of pump mounting flange

Size of main pump A, A,
125 15.12(384) 2.64(67)
250 on request

Flange 165-4 (SAE E, 4-bolt); for mounting of axial piston pump AA4VSO/G 250 (splined shaft S)
Ordering code K18

Section A-B

Splined sleeve 2"
8/16 DP; 15T

M20

2 2015DIA (9165.235%)
0104 (264)

0.41(10.4)
3.03(77)|
7] | 0.71(18)

18.94(481)
to face of pump mounting flange

Size of main pump
AA4VS0 250

36



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.
Dimensions in inches and millimeters ( ).

Flange 101-2 (SAE B, 2-bolt); for mounting of axial piston pump AA10VSO 28 - keyed shaft "K" (see RA 92 711)

Ordering code K03

Size 40 A_>|
0.876122,25)
| | 0875(22.22)
0.25216,41)
0.251(6,38)
Poas X
s / ﬁ =
P PNES ! 0,
<C Sg_‘ I ©
|/
/
' 5‘\/ BN
3 —|
Size of main pump A, A, A, A,
40 11.50(292) - 5.12(130) 2.40(61)
n 12.76(324) - 5.51(140) 2.40(61)
125 14.53(369)  0.32(8) 5.91(150) 1.73(44)

Section A-B

c
?
sl
: sle
N~
& E
|t
|6
&
e/
| Ay 0.41110,4)
0.43(11)
Aq A2

to face of pump mounting flange

Flange 127-2 (SAE C, 2-bolt); for mounting of axial piston pump AA10VSO 71 - keyed shaft "K" (see RA 92 711)

Ordering code K08

| | 1:252(31,800)
1251(31,775)

Size of main pump 250

Section A-B

| & &

©

Ul

5.0028 DIA (9152.47)
5.0008 DIA (0152 42)

0.55014)

- 2.01(51)

<0.21(10,4)

17.05(433)

to face of pump mounting flange

37



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.
Dimensions in inches and millimeters ().

Ordering code K01

Flange 82-2 (SAE A, 2-bolt); for mounting of external gear pump G2 (see RA 10 030) or
internal gear pump 1 PF2GC2/3-1X/XXXXR07MU2 (see RA 10 215)

4.19(1065) Section A-B 041(10.3)
Ao AN
f h K01 Splined hub 5/8"
16/32 DP; 9T
L W
o g
< <
ODCO
y £8
\
B —
0.39(10)
. . Az A3
Size of mainpump A, A, A, A, A, >
to face of pump
40 10.35(263) - 1.57(40) M10;0.59(15) deep 5.12(130) mounting flange
4l 11.46(291) 0.08(2) 1.46(37) M10;0.59(15) deep 5.51(140) Caution: with G2 and GG i
125 13.66(347)  0.31(8) 1.54(39)  M10;0.59(15) deep  5.91(150) aution: with fa= and % mounting
- . alternate direction of rotation is not
180 in preparation possible.
250 16.97(431) 0.12(3) 1.97(50) M10;0.59(15) deep 7.87(200) Also: watch for correct hydraulic fluid
355 in preparation

(see RA 10030 and/or 10215).

Flange SAE 102-2 (SAE B, 2-bolt); for mounting of external gear pump G3 (see RA 10039) or
for mounting of axial piston pump A10VO 28 (splined shaft S) see RA 92701

Ay

Ordering code K02
- 5.75(146) :0.41 (10.3)
Section A-B \
RN splined hub 7/8"
% 16/32DP; 13 T
£
ODOO
Sizes 40; 71
A, A,
40 11.42(290) - 2.60(66)  M12;1.02(26) deep - 0.39(10)
71 1268(322) - 2.09(53)  M12;1.18(30) deep - A7 A
125 13.66(347)  0.31(8) 1.54(39)  M12;0.59(15) deep  5.51(150) ISR
180 1461(371) - 154(39)  M12;0.59(15) deep _ 6.30(160) |02 o b
250 16.97(481)  039(10) 201(51) W12 071(18)deep  787(00) (o oo oo otemate
355 18.11(460) - 201(61) W12, 071(18)deep  8B6(220) oo e oo e not possible,
500 19.88(505) - 248(63)  M12,0.71(18) deep  945(240)  a\so-watch for correct hydraulic fluid
750 21.85(555) - 2.48(63)  M12,0.71(18) deep  10.16(258) (5o RA 10039).

38




RA 92 100/10.97 (SAE and Metric)

. . . Before finalising your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 9y Dim%ns?ons in injhes and millimeters ( %_

Flange SAE 102-2 (SAE B, 2-bolt); for mounting of fixed vane pump PVV1 and 2 with “J” shaft (see RA 10 335) or
for mounting of axial piston pump A10VO 28 (splined shaft R) see RA 92701
Ordering code KA3 A,

5.75(146)

A —»] Section A-B \\_b
[\ \ 7

0.64 (16.3)

splined hub 7/8"
16/32 DP; 13 T

) &
Z :
C)DOO
Sizes 40; 71
r
Size of main pump A, A, A, A, A,
40 11.42(290) - 2.36(60)  M12;1.02(26) deep - 0.39(10)
n 12.68(322) - 1.85(47)  M12:1.18(30) deep - A7 A3
125 13.66(347) 0.31(8) 1.30(33)  M12;0.59(15) deep  5.51(150) 1o face of >
180 1461(371) - 1.30(33)  M12;0.59(15) deep  6.30(160)  mounting flange
250 16.97(431) 0.39(10) 1.77(45)  M12;0.71(18) deep  7.87(200) . . .
Caution: with G3 mounting alternate
355 18.11(460) - 1.77(45)  M12;0.71(18)deep  8.66(220)  iroction of rotation is not gossible.
500 1988(505) - 224(57) M12, 0.71 (1 8) deep 945(240) Also: watch for correct hydraullc fluid
750 21.85(555) - 2.24(57)  M12;0.71(18) deep  10.16(258)  (see RA 10039).

Flange SAE 101-2 (SAE B, 2-bolt); for mounting of internal gear pump 1PF2GC4-1X/0XXXR07MU2, (see RA 10215) or
for mounting of axial piston pump A10VO 45 (splined shaft S) see RA 92701
Ordering code K04

As
. —>
Section A-B splined hub 1"
/ 16/32 DP; 15T
‘/\
‘%’E
\Y>/ ’ & %
|
B 5.75(146) >
Ay .
to face of pump
mounting flange
Size ofmain pump A A A A Caution: with internal gear pump GC mounting
T35 1%.66(347) 0.339(10) 1?93(49) |V|512; 0.59(15) deep alternate direction of rotation ig not 'possible.
e 18.11(480) 0.35() 236(60) M12: 0.71(18) deep Also: watch for correct hydraulic fluid

(see RA 10215).

39



RA 92 100/10.97 (SAE and Metric)

. . . Before finalising your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 Dimensions in inches and millimeters ( ).

Flange SAE 101-2 (SAE B, 2-bolt); for mounting of internal gear pump 1PF2GC5-1X/0XXXR07MU2, (see RA 10215)
Ordering code K06

Section A-B R e

K splined hub 1 1/4"

12/24 DP; 14T

|

D,

40020 DI(101.6:3%)

<%

P 5.75(146) N
0.39(10)
Ay o
to face of pump
mounting flange
Note: with internal gear pump GC mounting
- - Iternate direction of rotation is not possible.
Size of main pump A, A, A, A, a . . b
125 1488(378)  0.35(9) 053(135) MiZ 0.71(18) deep Also: watch for correct hydraulic fluid

(see RA 10215).

Flange SAE 127-2 (SAE C, 2-bolt); for mounting of internal gear pump 1PF2GC6-1X/XXXXR07MU2, (see RA 10215) or
for mounting of axial piston pump A10VO 100 (splined shaft S) see RA 92701

Ordering code K24

Section A-B As

\ J
A

splined hub 1 1/2"
/12/24 DP; 17T

A

2 e DIA(a1275%))

Size 250

<
1

‘ 7.13(181) N "
A, .

to face of pump

mounting flange
Size of main pump A, A, A, A, Note: with internal gear pump GC mounting
125 1484(377)  0.35(9) 2.91(74)  M16; 0.94(24) deep alternate direction of rotation is not possible.
180 15.79(401) 0.39(10)  2.83(72)  M16; 0.94(24) deep Also: watch for correct hydraulic fluid
250 17.76(451) 0.41(10.5) 2.99(76) M16; 0.79(20) deep (see RA 10215).

40



RA 92 100/10.97 (SAE and Metric)

Before finalising your design, please request a certified drawing.
Dimensions in inches and millimeters ().

Variable displacement pump A4VSG, series 1 and 2

Flange o 63 (mm) metric, 4-bolt; for mounting of radial piston pump R4 (keyed shaft) see RA 11263
Ordering code K57

A3
. 0.43(11)
Section A-B T
ol 1 <0:39(10)
M8
5 :
g =
B — 09851 557)
I0.9843
L031®)
A2 _
to face of pump -
Size of main pump A, A, . . rTWOUﬂtlng ﬂange o
40* 11.38(289) 2.40(61) Pay T;tﬁr;t;ozn to direction of rotation and hydraulic fluid
n* 12.56(319) 2.20(56) (see 63).
125 14.76(375) 2.44(62) *Mounting of radial piston pump R4-3 only possible with main pump
250 18.07(459) 3.07(78) A4VSG 40 and 71 using control option LR.D, LR.S or LR.G.

Flange SAE 101-2 (SAE B, 2-bolt); for mounting of gear pump G4 (see RA 10042)
Ordering code K68

Ay
5.75(146) 0.41(10.3)
Section A-B
splined hub 7/8"
/14/32DP;13T
| 28
3.?
£
C)DOO
==
Sizes 40; 71
0 A 0.39(10)
a0 1142(290) - 2.60(66)  M12;1.02(26) deep  — Az 1123
7 12.68(322) - 2.09(53)  M12;1.18(30) deep - to face of pump
- mounting flange
125 13.66(347)  0.31(8) 154(39)  M12;0.59(15) deep  5.91(150)
180 1461(371) - 154(39)  M12;0.59(15) deep  6.30(160)
250 16.97(431)  039(10) 201(51)  Mi2,0.71(18)desp  7.87(200)  Gaution: with G4 mounting alternate
355 18.11(460) - 2.01(51)  M12;0.71(18) deep  8.66(220) direction of rotation is not possible.
500 19.88(505) - 2.48(63)  M12;0.71(18) deep  9.45(240) Also: watch for correct hydraulic fluid
750 2185(555) - 248(63)  M12 071(18)deep  10.16(258)  (see RA 10042).

41



RA 92 100/10.97 (SAE and Metric)

. . . Before finalising your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 Dimensions in inches and millimeters ( ).

With through drive shaft, without hub or intermediate flange, with cover
Ordering code K99

M Size 40 - 355
— (Size 500 - 1000, see page 43)
A7 ' A7
A8
,/@\
Y
2 !
© - |
<
\\ Pictorial presentation
1 | A8 reflects size 71
—DK]
Section M- N
A17
A4 Size 0-ring Splined shaft
A16 Main pump  (not included DIN 5480
A10 in supply)
At 40 99x3 78 SH A W25x1.25x30x18x9g
D24 A5 A PRP 245 7509 W30x1.25x30x22x9g
v 125 119x3 78 SHA W35x1.25x30x26x9g
4 ) __}w 180 119x3 78 SH A W35x1.25x30x26x9g
mw 250 162x3 78 SHA W42x1.25x30x32x9g
2 355 162x3 78 SH A W42x1.25x30x32x9g
° /] §< o QN
—H— - 4+ — | = < -
< b p
N
o 1 A3
Splined shaft A9
DIN 5480 see table
A1 to face of pump mounting flange
Size, Mainpump A, A, A, A, A, A, A A, A, A, A, A, A, A, A, A, A,
40 10.3 0.39 0.29 2.01-003 M12x25 1.5:0007 1.5:0.007 0 070 0.35 0.090005 0464 @413, 0384 . 0204 173 055
(263) (10) (7.5) (51.3.1) (M12x25) (37x02) (3702) 0 (18) (9) (2.3w1) (o118) (s105,) (097.6,,) (052) (44) (14)
T 114 039 0.29 1.88.00 M12x28 42,3 1.77:-0005 0.60.0005 0.70 0.35 0.10v0008 0511 04.56, 0419, . 0248 1.53 062
(291) (10) (7.5) (48s1) (M12x28) (42.3) (45:015) (15.4s0:5) (18) (9) (2.7+01) (9130) (9116) (9106.4,,) (063) (39) (16)
125 13.6 0.47 0.33 1.95:003 M14x30 1.85-0.005 1.85-0.005 0 0.70 0.33 0.09:0003 ©5.39 04.88, ©4.56 . 0275 1.81 0.86

(347) (12) (85) (49.7-1) (M14x30) (47:016) (47-015) O (18) (85) (23w1) (o137) (0124) (9116, (670) (46) (22)

180 146 047 033 195.00 M14x30 1850005 1850005 0 070 033 0.09.000s 0539 0488, 04.56,,,, 0275 181 0.98
(371) (12) (85) (49.7-1) (M14x30) (47.015) (47.015) 0 (18) (85) (23:01) (o137) (9124) (0116,,) (670) (46) (25)
250 16.9 059 047 24200 M20x40 248.0005 2480005 0 102 035 0090000 07.08 0649, 06.18,, 0346 252 1.20
(431) (15) (12) (6141) (M20x40) (63.015) (63:015) O (26) (9) (23:01) (0180) (9165) (0157,,) (o88) (64) (30.5)
355 18.1 059 047 24200 M20x40 248.0005 2480005 0 1.02 035 0.09.00s 07.08 06.49, 06.18,,, 0346 252 133
(460) (15) (12) (61.4-1) (M20x40) (63-015) (63:015) 0 (26) (9) (2.3w1) (9180) (o165.) (s157,,) (088) (64) (34)

42



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalising your design, please request a certified drawing.
Dimensions in inches and millimeters ( ).

With through drive shaft, without hub or intermediate flange, with cover

drawn without cover

ol

+0.007 |
L 4.40%5007

4.40:0%07 1+0.007
—0007 __ 2.835007

Ordering code K99
Size 500 - 1000

| (112:93)

+0.007
2.83% 007

(112:53)

(72:%

72+0.2
236955 (/24

(6003

+0.007
1 '85—0.007

M16; 24 deep

+0.007
2785067

(70.7:33)

(4733
s o é}><\ |
x| & G ‘
é)’.l 8\ é_ (33
o T
[ ‘ - - - — 1 ‘ [ ! Section M - N
58 & A
o o é‘ O
S 1 & o o & ‘ i O-ring 165x3 78 SH A
1 d} (b_ 1.85:000 is included
2.36°95%7 ™ ol (47:3%) 2.78+0007 A7
(70.7:3%) N 2.783507 06290002
3.46:0%7 B (707733 >\ (016033%)
(88%32) 3.46:98% 1
T ] I
—»L |
7 . N
N <9§ : c:(': 3 i
- — - — —\H L9
| ©
! Sl lglE
|
4 |
J- 4x A4
0_09+0.003
(2_3+0.1)
Splined shaft | 0.39 (10)
DIN 5480 see table 11043011
AG| A5
A1 to face of pump mounting flange
A2 to face of pump mounting flange
Size
Main pump A, A, A, A, A, A, A, A, A, Splined shaft DIN 5480
500 19.88 2047 04.52 M16x30 287 161 295 M20;24 deep 20° W55x1.25x30x42x9¢
(505)  (520) (g115)  (M16x30) (73) (41) (75)  (M20;24 deep)
750 21.85 2271 p4.52 M16x24 287 161 295 M20;24 deep 20° W55x1.25x30x42x9¢
(555)  (577) (g115)  (M16x24) (73) (41) (75)  (M20;24 deep)
1000 2472 2570 9559 M16x24 295 196 255 M20;30 deep 15° W65x1.25x30x50x9¢
(628)  (653) (9142)  (M16x24) (75 (50)  (65)  (M20;30 deep)

43



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

K1

IO G

HO3
KD60

40
Typical schematic diagram AA4VSG 71 EO1K/10L-PPB10H029F
125 22
180

Port connections

(o9)

zz 40D XX>

(2]
o

A1?

~

W

M

Pressure ports
Flushing port
Housing flushing ports (plugged)
Case drain port
Return line or bleed
Suction port - auxiliary pump
Oil drain port (plugged)
M

A2’ B1’

Item Ordering code

1 Variable displacement pump A4VSG 40...180

" esambaanapped [Hoz| or [Hos]

3 Boost circuit filter El

3.1 Optical/electrical clogging indicator

4 Valve block SDVB 16 at A4VSG 40...180 For sizes 250...500 "SDVB 30" to circuit type 1
4.1  Pressure relief valve and for sizg 750 "SD\(B 50" are installed (see
4.2 Flushing valve El ?r?egfhsesc?( I\r/]ail)\sgp(ﬁcr;:o;.g) is installed in the
4.3. Checkvalve4.4 pipeline in this case.

5 Boost circuit check valves Standard on AA4VSG

6 Hydraulic control option

7 Short circuit valve (Z4AWEBE68-2X/AG24NZ4)

8 4/3 way proportional valve

9 Inductive position transducer (LVDT feedback device)

Electronic control not included in supply (please order separately)

44

M_, Test ports for operating pressure (plugged)
Test port for flushing pressure (plugged)




RA 92 100/10.97 (SAE and Metric)

. . . Before finalizing your design, please request a certified drawing.
Variable displacement pump A4VSG, series 1 and 2 9y Dimgens’fons in inﬂhes and millimeters ( %_

Unit dimensions

A4VSG with auxiliary pump, flushing block, inductive positional transducer and filter

A2

@

/

J
4

A
B
b1y

ha

L

~ 12

Al
\
B |
Iy
I
e

(e

A13

MA1 MBI 4 K1

A1

A3 |

Note: For dimensions, see table on page 46.

Port S (selection see page 32)

90°

AE

A8 A9 (7]
G2 G3 G4

45



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Before finalizing your design, please request a certified drawing.
Dimensions in inches and millimeters ( ).

Unit dimensions

Size A1 A2 A3 A4 A5 AG A7 A8 A9 A10 A11 A12 A13 A14* A15*
40 685 968 566 122 142 157 - 0.78 M6; 13deep 1.65 ~14.3 6.88 4.52 0.64 0.64
(174) (246) (144) (311) (361) (40) (9 (20) (42) (~364) (175) (115) (16.3) (16.3)
71 13.2 134
(337) (341)
6.96 104 6.53 157 - 0.78 M6; 13deep 1.65 15.3 7.08 452 0.64 0.64
(177) (265) (166) 40) () (20) (42) (389) (180) (115) (16.3) (16.3)
71 13.3 135
(340) (345)
125 773 117 799 16.1 186 2.06 1.03 1.00 M10; 16 deep 1.81 17.4 767 6.77 0.72 0.72
(196.5) (298) (203) (409) (473) (52.5) (26.2) (25.4) (46) (442) (195) (172) (18.3) (18.3)
180 7.73 117 799 173 201 231 1.18 1.25 M10; 16 deep 1.81 17.4 897 7.00 0.72 0.72
(196.5) (298) (203) (439.5) (511) (58.8) (30.2) (31.75) (46) (442) (228) (178) (18.3) (18.3)
250 124 135 9.76 204 232 231 118 1.25 M10; 16 deep 1.81 17.6 8.97 6.57 0.72 0.72
(317) (345) (248) (519.5) (590.5) (58.8) (30.2) (31.75) (46) (448) (228) (167) (18.3) (18.3)
355 125 185 9.76 222 252 274 140 1.49 M12 3.54 17.9 104 858 095 0.95
(319) (345) (248) (566) (641) (69.8) (35.8) (38) (90) (455) (266) (218) (24.3) (24.3)
500 13.8 154 109 244 278 3.06 1.68 1.96 M12 4.09 19.1 102 799 095 0.95
(353) (392) (279) (622) (708) (77.8) (42.8) (50) (104) (487) (260) (203) (24.3) (24.3)
* A,, gear - auxiliary pump * A, gear - auxiliary pump
Ports direction of rotation clockwise direction of rotation counter-clockwise
Size M,, M, K, K, K, S M.,
40 M14x1.5 M22x1.5; 14 deep M22x1.5 Square flange form B M14x1.5
71 M14x1.5 M22x1.5; 14 deep M27x2 Square flange form B M14x1.5
125 M14x1.5 M22x1.5; 14 deep M33x2 SAE 1" (Standard pressure series) M14x1.5
180 M14x1.5 M22x1.5; 14 deep M33x2 SAE 1 1/4" (Standard pressure series) M14x1.5
250 M14x1.5 M33x2; 18 deep M42x2 SAE 1 1/4" (Standard pressure series) M22x1.5
355 M14x1.5 M33x2;18 deep M42x2 SAE 1 1/2" (Standard pressure series) M22x1.5
500 M14x1.5 M33x2; 18 deep M48x2 SAE 2" (Standard pressure series) M22x1.5

46



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Auxiliary pumps, mounted and piped, HO2 - HO5

Standard are auxiliary pumps mounted and piped as follows:

1in®=16.38 cm?®

Size A4VSG 40 n 125 180 250 355 500 750  Ordering Code
1 auxiliary pump for boost oil circuit n <2800 rpm
auxiliary pump mounted (V, cm?) - G2 (16) G2(26) G3(32) G3(38) G4 (63) G4 (100) O

1 auxiliary pump for boost oil circuit n > 2800 rpm
auxiliary pump mounted (V, cm?) G2 (11) G2 (11) - - -

1 auxiliary pump for a combined boost oil circuit and pilot oil circuit (EO1 only) n < 2800 rpm
auxiliary pump mounted (V, cm?) - G2 (16) G2 (26) - G3 (38)

1 auxiliary pump for a combined boost oil circuit and pilot oil circuit (EO1 only) n > 2800 rpm
auxiliary pump mounted (V, cm?) G2 (11) G2 (11) - - -

Unit dimensions and technical data see data sheets:

G2 -

G3 -

G4 -

RA 10030
RA 10039
RA 10042

in preparation (please request)

Valve block SDVB 16 (pump sizes 40...180),

SDVB 30 to circuit type 1 (pump sizes 250...500) and
SDVB 50 (pump sizes 750 and 1000)

see RA 95533

47



RA 92 100/10.97 (SAE and Metric)

Variable displacement pump A4VSG, series 1 and 2

Bosch Rexroth Corporation
Mobile Hydraulics

Axial & Radial Piston Units

8 Southchase Court

Fountain Inn, SC 29644-9018
USA

Telephone (864) 967-2777
Facsimile (864) 967-8900
www.boschrexroth-us.com

© 2004 Bosch Rexroth Corporation

All rights reserved. Neither this document, nor any part of it, may be reproduced,
duplicated, circulated or disseminated, whether by copy, electronic format or any
other means, without the prior consent and authorization of Bosch Rexroth
Corporation.

The data and illustrations in this brochure/data sheet are intended only to
describe or depict the products. No representation or warranty, either express or
implied, relating to merchantability or fitness for intended use, is given or
intended by virtue of the information contained in this brochure/data sheet. The
information contained in this brochure/data sheet in no way relieves the user of
its obligation to insure the proper use of the products for a specific use or
application. All products contained in this brochure/data sheet are subject to
normal wear and tear from usage.

Subject to change.

48




	Cover page
	Ordering code
	2nd page ordering code
	Through drive ordering codes

	Hydraulic fluid
	2nd page hydraulic fluid

	Technical data
	Table of values
	Installation notes
	Calculation of size
	Unit dimensions
	Size 40, SAE version
	Size 40, metric version
	Size 71, SAE version
	Size 71, metric version
	Size 125, SAE version
	Size 125, metric version
	Size 180, SAE version
	Size 180, metric version
	Size 250, SAE version
	Size 250, metric version
	Size 355
	Size 500
	Size 750
	Size 1000

	Summary of controls
	2nd page summary of controls
	3rd page summary of controls

	Through-drive
	Combination pumps
	A4VSG + A4VSG
	A4VSG + A4VSO
	A4VSG + A10VSO

	Unit dimensions
	K31
	K33, K34
	K35, K77
	K43, K51
	K25, K26
	K27, K37
	K59, K16
	K17, K18
	K03, K08
	K01, K02
	KA3, K04
	K06, K24
	K57, K68
	K99, Size 40 - 355
	K99, Size 500 - 1000


	Typical schematic diagram
	Unit dimensions 
	Table
	Auxiliary pumps


